Reg. No. :

Code No. : 22103 B Sub. Code : GMEC 61

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
MACRO ECONOMICS - II
(For those who joined in July 2012 — 2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. MasmrCLreller Gamlumipe —————— giodm @(H
WpsHwner @)L ssHlenar cudlsslemmg.
(=) eSleugmuid (=) Gsmped
(@) Gaeneu (/) eumemflud
In Ricardian theory —————— sector occupies a
crucial place.
(a) Agricultural (b) Industrial

(¢) Service (d) Trade



B8 paeSH creng)

(@) 2simaw wssSH

(<)) THETEISET CUTHIGSE

(@) ansaCGeu 2 drer GlFTEHE&ESHET LLTHMHLD
(™) (1) opmid ()

Financial Investment means

(a) Real Investment

(b)  Purchase of machines

(¢) Transfer of existing assets

(d) Both (a) and (b)

safllbLT (Pl gram(Hb eudlsaile eerm
(=) sipdlen GaillianL HHsLLHSSHISO

() @iy dissas AFsiLES55®

(®) eaumssqiansser Ha0LMHSSIS60

() earflu serees SFsLILOSSISO

One of the measures to induce private investment
is

(a) toincrease government savings
(b) to increase rate of interest
(c) toincrease tax concessions

(d) toincrease the wage level
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‘e CaLIA L6 aramD Lissesms apduia
(1) &6 g (=) Qaafan

(@) @ewant WOTsT® (FF)  &meoLi

The author of ‘Das Capital’ is

(a) Karl Marx (b) Lenin

(¢) Gunnar Myrdal (d) Kaldor
Qg mremento Gummeflwe eue@IBT&HET BLOL|6Ug)
(=) Geauameulemeno

(=) W Ceuana Hlenaw

@) ved vy Caumae flaw

()  wEd Couamaudemento
Classical economists believed in
(a) Unemployment

(b) Full employment

(¢) Partial full employment

(d) Partial unemployment
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BICsaveny &ML, Cuflwed  euqmeumL
Carl_um_enL 2 (HeUTEHS
SllgLILELWITg LweTU (NSSIHemmi.

() e (=) Qu@mss
() »bss () eu

Nicholas Kaldor used the concept of
frame theory of macro distribution.

(a) Rent (b) Multiplier
(¢) Accelerator (d) Surplus
Symwoliym Couamauferrenio oo

Ceuenevullesrento

SN P&ELIL[HE ).
(=) Qamfént U
(<) gen eflpLin
(@) wapws

()  Gunaadlu Sienarsgb

LTy

to

UMSUN 6L

GTEITGLD

Rural unemployment 1is otherwise called as

unemployment.
(a) Technological (b) Voluntary
(¢c) Disguised (d) All of these
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dfleungs LemsCaTaTansmu THS ST HL L Bigefle

peoLpepuBssLUGEams?
(<) groveslera () vamelissn
(@) Csés eigsbd (FF) o2& Hlaew
Expansionary monetary policy adopted during the
period of
(a) Recession (b) Inflation
(¢) Stagflation (d) Peak
ueanrsCsmarensuden @&ml&Caer erg)?
(=) wpuw Ceuama Hlane janL_ga
() el eamé@aisge
(@) abHp sMdmel isDHISED
()  sepspsl SimLgd
The objective monetary policy is
(a) attain full employment
(b) encourage investment
(¢) remove inequalities
(d) achieve social justice
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10.

11.

UemTd Mg Gamerensuier @enL_Geuert ererLig

<) v GevLGleuarfl

(
(<) Couene @enL_Glauafl
(@) Qawe @evrLGeuaf

()  aufl @en_Ceuafl

The lag of the monetary policy in
(a) Pricelag

(b) Employment lag

(¢) Action lag

(d) Taxlag
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.
(=) wrisdwls QummeTTsTysHen WPEHW  Famiseaner
&Lllg ST (H&.

Indicate the main features of Marxian
economics.

Or
(<) sreoLmiar urd Hé Camum e efleurdés.

Discuss Kaldor’s theory of distribution.
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12.

13.

14.

WPFD L1 6T QU SHENET 66T &3.

Expound the types of investment.
Or
gpavgeansler @miFllane < sEHSHMET eTTHTE

GTGITGT?

What is meant by MEC?

Seedleyr  smOmLiLy, PSS Igan  (Wplgellene
SmorefiliLemeusar wreneu?

What are the determinants of investment
decision according to Keynes?

Or

Cuilwed Qumermgmy Csmerensuflen CpreHgnIgeT
wimeneu ?
What are the objectives of Macro Economic

Policy?

o gmenowinar  euatEsl  aigsHHEb, wrmidem
Ceuenavudleento Hlenas@d @enl Gl 2 6Ter 2 ey

Blane Lmil @D S.

State the relationship between real growth
rate and change in unemployment.

Or
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15.

16.

(<) efleve VS TSHETEN LS GLD WP Gouemev

Blen@&H@GD 2 6TeT (LPFERTLITL I aner 6TedeUangudled
Blourg gl Qauwiw (wpiquyb?
In what way the conflict between price

stability and full employment can be
removed?

@ eueT(hd Brige uamellwed Glamarandgulen
Crrasnisamer elleTsdld gomis.

State and explain the objectives of monetary
policy in a developing economy.

Or

(<) Hds Qardransulenar ellendEs.

(=)

Explain Fiscal Policy.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

MeasriGLrelen Ldlite) CarlurleamL alrfsg
Smenmiey Claws.

Critically evaluate Ricardian theory of
income distribution.

Or
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17.

18.

FIHTHED  (PpSOLeL  UMHGGD  sryenilser
wIreneu?

What are the factors affecting inducement to
invest?

QumpeTTSTrSE Senadle QareTens
BenL_(pepmaaflem LweTmenl LiL g w6l (Hs.

List out the Keynesian policy measures
applicable for the economy.

Or

Seveadler  cupoTed  WwHmID  CeuemeveumiiliL

Camumigener efleuil.

Describe the Keynesian theory of income and
employment.

eflenav VTS SEMENLOE LD QumrmerTgmy
QUETTES & (GLD 2 GTeIT @) UWIGVL|FHENET <, TS

Analyse the nature of price stability and
economic growth in India.

Or
Eeveler s(meallsamer cllars @s.

Explain the tools of Keynes.
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19.

20.

Guflwev QuTeTTSTrsS Qaretensgafl er

Crrasnisamer alemd@s.

Explain the objectives of macro economic
policy.

Or

auemEsl GampBE Br(Hsated Lansblamearensullen

cuamTUemameT Gleuall&Glamem is.

Bring out the limitations of monetary policy
in LDC’s.

uanrdGarerensudler smadlaer Lip Ml Spermiis.

Critically explain the instruments of
monetary policy.

Or
fleunés LT &EGETaTeNS LOHMILD
sHUUmSSIuLL LT & ol & maiTen & ull ement

Caumu(hsss.

Distinguish between Expansionary monetary
policy and Restrictive monetary policy.
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Code No. : 22103 E Sub. Code : GMEC 61

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
MACRO ECONOMICS - 11
(For those who joined in July 2012 — 2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. In Ricardian theory —————— sector occupies a
crucial place.
(a) Agricultural (b) Industrial

(¢) Service (d) Trade



Financial Investment means

(a) Real Investment

(b) Purchase of machines

(¢) Transfer of existing assets

(d) Both (a) and (b)

One of the measures to induce private investment
is

(a) toincrease government savings

(b) toincrease rate of interest

(c) toincrease tax concessions

(d) toincrease the wage level

The author of ‘Das Capital’ is
(a) Karl Marx (b) Lenin
(¢) Gunnar Myrdal (d) Kaldor

Classical economists believed in
(a) Unemployment

(b)  Full employment

(c) Partial full employment

(d) Partial unemployment
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10.

Nicholas Kaldor used the concept of to

frame theory of macro distribution.

(a) Rent (b) Multiplier

(¢) Accelerator (d) Surplus

Rural unemployment 1is otherwise called as
unemployment.

(a) Technological (b) Voluntary

(¢) Disguised (d) All of these

Expansionary monetary policy adopted during the

period of

(a) Recession (b) Inflation

(¢) Stagflation (d) Peak

The objective monetary policy is
(a) attain full employment

(b) encourage investment

(c) remove inequalities

(d) achieve social justice

The lag of the monetary policy in
(a) Price lag

(b) Employment lag

(c) Action lag

(d) Taxlag

Page 3 Code No.
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

Answer should not exceed 250 words.

Indicate the main features of Marxian
economics.

Or

Discuss Kaldor’s theory of distribution.

Expound the types of investment.

Or
What is meant by MEC?

What are the determinants of investment
decision according to Keynes?

Or
What are the objectives of Macro Economic

Policy?

State the relationship between real growth
rate and change in unemployment.

Or

In what way the conflict between price
stability and full employment can be
removed?

Page4 Code No.: 22103 E
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15. (a) State and explain the objectives of monetary
policy in a developing economy.

Or
(b) Explain Fiscal Policy.
PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Critically evaluate Ricardian theory of
income distribution.

Or

(b) What are the factors affecting inducement to
invest?

17. (a) List out the Keynesian policy measures
applicable for the economy.

Or

(b) Describe the Keynesian theory of income and
employment.

18. (a) Analyse the nature of price stability and
economic growth in India.

Or

(b)  Explain the tools of Keynes.
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19.

20.

(a)

(b)

(a)

(b)

Explain the objectives of macro economic
policy.

Or

Bring out the limitations of monetary policy
in LDC’s.

Critically explain the instruments of
monetary policy.

Or

Distinguish between Expansionary monetary
policy and Restrictive monetary policy.
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Fifth Semester
Economics — Main
MACRO ECONOMICS -1
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. Spsavieupmer ergy Culwed QumrmertsrysHer ¢
UGSHwm@Ld ?
(=) ueadrgdler ellened Bl awruib
(=) Qumg aflenav Hlaned
(@) =2nusd smefl ellene Fl ewrwibd

()  QsmPnsrene emwedLLb



Which of the following is a part of the study of
macro economics?

(a)
(b)
(©
(d)

Product pricing
General price level
Factor pricing

Location of an industry

Cuflwe Qurmermgmy @puiefer WslGLflu oumuibD

SFlsliLguirer CumgsserenLo

S u@Hsamers LigliLig

miaenfl Qurmernsry WrFsmarsameartl LigLiLg)
S&flBL @Obu  eagey-Lswe| samssHlaert
Lig LILg)

The greatest danger of macro economic analysis is

(a)
(b)
(©
(d)

The excessive generalisation
The study of small parts
The study of micro economic problems

The study of individual family budget

CaHlw au@prend ererLger GlLimmer

(=)

LTl Sdlem LienTodlliL| &L

vewtlsaflem LaTodlliL <@L

LT igeT, Lantlsater LentodlliL) @b

@O BTy @  Hamgd 2 HusHurgd
ueTLigeT, Uantisaflen UL <@L
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National Income means

(a) Money value of good

(b) Money value of service

(¢) Money value of goods and services

(d) Money value of goods and services of a

country in a particular period

SatlbL QU(TRLDTEUTLD CTGTLIG) GU(THLOMEITLD
QuDMIECEHTET(EHLD

(=) saflbu 6T (<) Qsme Hlmeiard
(@) Geuermemrenio ()  ueafggianm

Personal Income is the income received by

(a) Individuals

(b) Business sector

(¢) Agricultural sector

(d) Service sector

“Coumeaumiuiyy eully uewrd updlws Casmliur®”
GTeTm HIENQ 6T (pSluiel

(=) =pLb avidlg (=) oI 1w age

(@) Ggg.crav. e (F)  Ggy.erid. Sebrahy
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“The General Theory of Employment, Interest and
Money” was written by

(a) Adam Smith (b) Alfred Marshall

(¢) J.S.Mill (d) J.M. Keynes
Y@eler  sdmiilg 2 eplumer @miglblene,
2 DLSHEGE FLOWME FnedledW 6fDHMISH6lETERTL T

(=1) Couemavullemenn @evenad
(<) Goumauleranio 2 et (p)
(@) @555 dareroudldame
()  ergleysldena

According to Pigou if labourers accept a wave
which is equal to the marginal productivity

(a) No unemployment

(b) Unemployment

(c) Won’t accept

(d) None of the above

@m GOUULL  eumbrar etedlld He 6 CFwe]
cigdgiLen Cgm LeoLwg

<) ggmefl B1s 6 6isb

Q) ms o

(
(=) @ondhoe s 6 6isb
(
(FF)  m& &y &m |
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The ratio of consumption expenditure to any
particular level of income refers to

(a) APC
(b) MPC
(¢) Consumption

(d) Consumption function

1 - @mdlfleved ms @] edlmULID
(=) eyrefl ms 6y afl@Lub
(=) ayraf Calliy afl@muum

() Qoghlame Calliiy < e
()  Cuopamdlu ergie|sleane

1-MPC =
(a APC (b) APS
(¢ MPS (d) None of the above

@anblee Ceumoeumilys soblaoe  smSdaen
cupmEISl w6l

(<) <566 () gréer e

(@) &eev (/) smapCeucdaan

The concept of under employment equilibrium was
given by

(a) Ackley (b) Ragnar Frisch
(¢) Keynes (d) Samuelson
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10. WOseyd Guomgwmesr Gauanevulderanio GTTRI(&
Bleve|Slermg) ?
(1) euar(Hb QuUTHETTSTLD
(=) Wergmdlu QurmeTTSTyb
(@) euer By QUTHETTSTILD
(FF)  ULPELWTET &EPSHLD
Chronic unemployment prevails in the
(a) Developing economy
(b) Underdeveloping economy
(¢) Developed economy

(d) Traditional society
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
11. (=) mewenilwd, Cuflweéd CQummermsmy o,uie|sHamer
Caumu®sd elarsE.

Distinguish between micro and macro
economic analysis.

Or
(<) Cuwed Cummerrg Tyl e p&SwuggieuDd

GTGTGUT ?
What is the importance of macro economics?
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12.

13.

14.

(=)

2 Hugd wpenmuiled BT () GUIHLLTETD Herddl(hib
papsamer elleTsdl 6T(Lpgl.

Explain the product method of measuring
national income.

Or
Caélw GU(THLOMEITLD bl LG (Hen LI
&(HSSISHMET 6 6md: &5 .
Explain the various views on national
income.
wphop  GCoauameeuriiiy updw  Sererdler
&S(HEMS 6T(LHGI5.
Write the Keynesian view of full
employment.

Or
B& @ am Q&red clergsid b3
THSHSST(HL6T 6l6mdEs.
Define consumption function and illustrate it
with suitable example.

B& @ WHMb cumLIETSSHHE 266t Csm e
cMlemd 5.

Explain the relationship between
consumption and income.

Or
@miglblepey m& @ BTLLLD WHMID Fyref mS 6]

BT L SSD@GD 2 6ter QT enu allensd@s.

Explain the relationship between MPC and
APC.
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15.

16.

(=)

sanaflgans (pged(H LOHMD grewr Ll L (psed(H
-Caumu(O5sis.

Distinguish between Induced and
Autonomous Investment.

Or
WH&E smsHen (psHwSHaID eTermer ?

What 1is the importance of Accelerator
principle?

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

Culwed QummermgTy&S e @udenLiuyb
LplenUWw|D <Tmis.

Analyse the nature and scope of macro
economics.

Or
Cuilwed Cummermgmy  <puieler @Gapur(ger

wreneu ?
What are the limitations of macro economic

analysis?
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17.

18.

19.

Coflu  aumbrarsms  erelld  LeGeum
perpsemer cileufl.

Describe the various methods of measuring
national income.

Or

BT eumeumil  sansSlheudler smantiini(BHlm
K r&Fsemarser wWmamel ?

What are the problems faced while
calculating national income?

Caullerr mismg eldlenw ellerd@s.
Explain the Say’s law of market.

Or
o o@edlem gmell Cleul () Camumiqeme < Fmiis.
Examine the Pigou’s wage cut theory.
B& @ &M L| GTeTDTE) GTeien ? 2 & T6uT k& (erL_ 6o
elarsdl er(pg.

What is consumption function and illustrate
it with suitable example?

Or
Eemerdlerm 2 areillwed HIE 6 ellflenws aflerd@s.
State the Keynesian psychological law of

consumption.
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20. (=) wphsdler ewdur@smars QST@HSS 6T(HSIs.

Write in detail about the working condition
of accelerator.

Or
(=) Seadlen sl (h Qu@msSH upd efeufl.

Describe the investment multiplier of
Keynes.
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B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
BANKING THEORY AND PRACTICE
(For those who joined in July 2012 — 2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Qurg waseflLBl(BBE meulilEsmer FHms GlETeTalg

(1 eumIEl et —————— LanflumE L.
(=) s gL (<) Qe mb gL
(@) wCssamawment (/) BlepeowimenLs

Accepting deposits from the public is a
function of a bank.

(a) primary (b) secondary

(¢c) contingent (d) static



cuenfla eumidlger
(=) Gawllienu gyl (hdlempen

(=) epegar Syl Hullener 2ears @ elssl et
(@) Ceuarmairanio Bl cuipmi@dlemmen

(F)  Geneu SimaTsgLd

Commercial banks

(a) moblise savings

(b) promote capital formation

(¢) provide agricultural finance
(d) all of these

flever  aumdl  wepuler CgroHmons

Bmsdpsg.
(1) QwiéaT (=) @rdlorbg
(@) Qpdur () 9Gpélad
1s the origin of the branch banking
system.
(a) America (b) England
(¢) India (d) Brazil
safl  eumdl  wperpuier  geflliulL  Splifwdeau
2 LG —— (PEODWTGLD.
(1) Slever quraidl () drfldsgien cumbdl
(@) ©weumd () QgmLir eumkigl
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The unique feature of unit banking system is
system.

(a) branch banking

(b) correspondent banking
(¢c) group banking

(d) chain banking

_— enauLiLy, Qrréssdlenen GBI
SIS ERESE CsmenT(h eumEmg).
(1) wpsemenin (=) smalssiul L
(&) Geuliy () By
deposits brings cash to the banking
system.
(a) Primary (b) Derived
(¢) Savings (d) Current

1Yl6tTeu (HeuaTeUHMIET 6Ths eemmrengl srGamanauilen e(m
AUMGWITSHTG|?

(1) L srCamene

(=) Qeupms srGamane

(@) asfs srCamane

()  Qamawriueum smGaTame

Which one of the following is not a type of cheque?
(a) crossed cheque (b) blank cheque

(¢) speed cheque (d) bearer cheque
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BLOGI BT g6 GnLDW eUmbISwITS @) (HLILS)
(=) @bdw flare euridl

(<) QuLre eumid

(@) @bswu avCLL cumidl

(FF)  @bdwer gouien cumid

The Central bank of our country is
(a) Reserve Bank of India

(b) Federal Bank

(¢) State Bank of India

(d) Indian Oversees Bank

LLWIOTSSILLL ).
(=1) ggar. 1,1939 (<=4) gar. 1,1949
(@) sgar. 1,1959 (7) eger. 1,1969

Reserve Bank of India was nationalised on

(a) Jan.1, 1939 (b) Jan. 1, 1949
(¢) Jan.1, 1959 (d) dJan.1, 1969

Wler-eumiludled Wgh Quilu gepLwins @) mLiLg,

(=) glauss Hgway (=) Bireudliy Qgeay
(@) ulpd QFea] () ungsmiy Ggeey
The biggest constraint in e-banking is

(a) start up cost (b) maintenance cost
(c) training cost (d) security cost

Page4 Code No.:22104 B
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10.

11.

EFT cranini(hougy

(1)
(<)
(&)
(7)

Effective Funds Transfer
Efficient Funds Transfer
Easy Funds Transfer

Electronic Funds Transfer

EFT means

(a) Effective Funds Transfer
(b) Efficient Funds Transfer
(¢) Easy Funds Transfer

(d) Electronic Funds Transfer

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

(=)

cuentls  eumidl  eretm LSS  EUMTLIMISI
aleT&&6yLD.
Define and explain the term Commercial
Bank.

Or
cUETS CUEIFSET QULPHIGS Fnlqul LIOCeIM &L_6naheT
wireneu?
What are the different kinds of loans
provided by Commercial Banks?
safl eumIdl (LPEmUAEIT HETENLOSEN 6T Fo D).
State the advantages of Unit Banking System.

Or
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13.

14.

15.

(<=4)

(=)

sl eumidl (panm — e GOILIL eT(LPGIS.

Write a note on mixed banking system.

wrHn  wpen Yeuammsafler SHpliGuesamer
cAlemd: @s.

Explain the characteristic features of
negotiable instruments.

Or
&L BTERTLIS &lq HhIGETI6 HTenLDSEMETS oM.
Narrate the advantages of letters of credit.
s SL(HLLT g6 CHIT&SBISET Wreneu?
What are the objectives of credit control?

Or
@pdwu Maieu eumdlufler Lanflgaer eflbisard

QFIs.

Criticise the functioning of Reserve Bank of
India.

urpbufly eumidls@h,  Wear-eumdls@d o drer
Coumumr(hs6T wrened?

What are the differences between traditional
banking and e-banking?

Or
Beier euidlsafler @uidLgamar GHULAHS.
Indicate the main features of modern banking.
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16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

(=)

(<=4)

cuanfls cumidlsatien rsmen Liantlsamer 6lleTéEs.

Explain the main functions of Commercial
Banks.

Or
@ndwu  Qummernsmy  Gobumrlige  euamils
cumiglsatien Limidleanen eleurd).
Discuss the role of Commercial Banks in the
economic development of India.
Slanar auridl (peppudlen HemenLosan e al6md @,

Explain the advantages of branch banking
system.

Or
@ndlwumeild o erer aumbdl enwli] pepmulenet
LSHISE Qelis.
Evaluate the banking system that prevails in
India.
cuentls eumISlEeTTe) 2 (Heumss LMD SLensafler
QUFLDL|&ET WITeneU ?

What are the limitations of Credit Creation
by Commercial Banks?

Or
Page7 Code No.:22104 B



19.

20.

(<=4)

(=)

srGamangaflen LiCeun cuamEEM6T 68l6md:@s.

Explain the different types of cheques.

W aumSluller uaflsamer alloTsEs.

Explain the main functions of Central Bank.

Or

L Gaum FL_GTT6S sL_Quumr’_(
BLGUIG SEEHEET 66T &,

Explain the various quantitative credit
control measures.

Wler-eumiSludlen pemeniogeaner Geais6lsmenTia.

Bring out the advantages of e-banking.

Or

“er-euridl Lalgorer LTgSTIL SdsoEamar
2 oL wg” — Cgefleund@s.

“E-banking involves many problems of
security” — Elucidate.
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(6 pages)

Reg. No. :

Code No. : 22104E Sub. Code : GMEC62

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
BANKING THEORY AND PRACTICE
(For those who joined in July 2012 — 2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1.  Accepting deposits from the public is a
function of a bank.
(a) primary (b) secondary

(¢c) contingent (d) static



Commercial banks

(a) moblise savings

(b) promote capital formation
(¢) provide agricultural finance

(d) all of these

1s the origin of the branch banking

system.
(a) America (b) England
(¢) India (d) Brazil

The unique feature of unit banking system is
system.

(a) Dbranch banking

(b) correspondent banking
(¢) group banking

(d) chain banking

deposits brings cash to the banking

system.
(a) Primary (b) Derived
(¢) Savings (d) Current
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10.

Which one of the following is not a type of cheque?
(a) crossed cheque (b) blank cheque
(¢) speed cheque (d) bearer cheque

The Central bank of our country is
(a) Reserve Bank of India

(b) Federal Bank

(c) State Bank of India

(d) Indian Oversees Bank

Reserve Bank of India was nationalised on

(a) Jan. 1, 1939 (b) dJan. 1, 1949
(¢) Jan.1, 1959 (d) dJan. 1, 1969

The biggest constraint in e-banking is

(a) start up cost (b) maintenance cost
(¢c) training cost (d) security cost
EFT means

(a) Effective Funds Transfer

(b) Efficient Funds Transfer
(¢) Easy Funds Transfer

(d) Electronic Funds Transfer

Page3 Code No.: 22104E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

Answer should not exceed 250 words.

Define and explain the term Commercial
Bank.

Or

What are the different kinds of loans
provided by Commercial Banks?

State the advantages of Unit Banking
System.

Or

Write a note on mixed banking system.

Explain the characteristic features of
negotiable instruments.

Or

Narrate the advantages of letters of credit.
What are the objectives of credit control?

Or

Criticise the functioning of Reserve Bank of
India.

Page4 Code No.: 22104E
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15. (a) What are the differences between traditional
banking and e-banking?

Or

(b) Indicate the main features of modern
banking.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 600 words.

16. (a) Explain the main functions of Commercial
Banks.

Or

(b) Discuss the role of Commercial Banks in the
economic development of India.

17. (a) Explain the advantages of branch banking

system.
Or
(b) Evaluate the banking system that prevails in
India.

18. (a) What are the limitations of Credit Creation
by Commercial Banks?

Or
(b)  Explain the different types of cheques.
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19.

20.

(a)

(b)

(a)

(b)

Explain the main functions of Central Bank.

Or

Explain the various quantitative credit
control measures.

Bring out the advantages of e-banking.

Or

“E-banking involves many problems of
security” — Elucidate.
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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.
Fifth Semester
Economics — Main
MACRO ECONOMICS -1
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1.  Which of the following is a part of the study of
macro economics?
(a) Product pricing
(b) General price level
(¢) Factor pricing

(d) Location of an industry



The greatest danger of macro economic analysis is
(a) The excessive generalisation

(b) The study of small parts

(¢) The study of micro economic problems

(d) The study of individual family budget

National Income means

(a) Money value of good

(b) Money value of service

(¢) Money value of goods and services

(d) Money value of goods and services of a
country in a particular period

Personal Income is the income received by

(a) Individuals

(b) Business sector

(¢) Agricultural sector

(d) Service sector

“The General Theory of Employment, Interest and

Money” was written by

(a) Adam Smith (b) Alfred Marshall

(c) J.S.Mill (d) J.M. Keynes

Page 2 Code No.:22447 E



10.

According to Pigou if labourers accept a wave
which is equal to the marginal productivity

(a) No unemployment
(b) Unemployment

(¢) Won’t accept

(d) None of the above

The ratio of consumption expenditure to any
particular level of income refers to

(a) APC
(b) MPC
(¢c) Consumption

(d) Consumption function

1-MPC=
(a) APC (b) APS
(c) MPS (d) None of the above

The concept of under employment equilibrium was
given by

(a) Ackley (b) Ragnar Frisch
(¢) Keynes (d) Samuelson

Chronic unemployment prevails in the
(a) Developing economy

(b) Underdeveloping economy

(¢) Developed economy

(d) Traditional society
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Distinguish between micro and macro
economic analysis.

Or
What is the importance of macro economics?

Explain the product method of measuring
national income.

Or
Explain the various views on national
income.
Write the Keynesian view of full
employment.

Or
Define consumption function and illustrate it
with suitable example.
Explain the relationship between
consumption and income.

Or

Explain the relationship between MPC and
APC.

Page4 Code No.:22447 E
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15. (a)

(b)

Distinguish between Induced and
Autonomous Investment.

Or

What 1is the importance of Accelerator
principle?

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Analyse the nature and scope of macro
economics.

Or

What are the limitations of macro economic
analysis?

Describe the various methods of measuring
national income.

Or

What are the problems faced while
calculating national income?

Explain the Say’s law of market.

Or

Examine the Pigou’s wage cut theory.
Page5 Code No.:22447 E



19.

20.

(a)

(b)

(a)

(b)

What is consumption function and illustrate
it with suitable example?

Or

State the Keynesian psychological law of
consumption.

Write in detail about the working condition
of accelerator.

Or

Describe the investment multiplier of
Keynes.
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Code No. : 22105 B Sub. Code : GMEC 63

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
INDIAN ECONOMY
(For those who joined in July 2012-2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct Answer :

1. sr(hser Wseybd Hleanmhs wrhlen
(=) Simamrmdseols 95CsaD
(<) Sadld
(@) =ievenmbd

() S



The state with the largest forest

(a) Arunachal Pradesh

(b) Sikkim

(c) Assam

(d) Bihar

o & WwEsE Osrasid @hSurader @Lib aerer?
(=) psmd (=) QyarLmbd
() eperpmd ()  BTeTSMD
What is India’s rank in world population?
(a) first (b) second

() third (d) fourth

sLbHS sTomseale @nbHureiear Csflw  eumeumule

Ceuermamaniouflen Lk,
(=) wrprdlpadamnsg
(=) <flafsdmadng
(@) eoppdnsdans
() pgeller Geoppg Uetar <idsllsdBadng)
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The share of agriculture in India’s national income
has ————— over the years.

(a) remained constant
(b) increased
(¢) decreased

(d) first decreased and than increased

Ceuarmamrening gy = ————— Sssdlenernd

5bEI&SIg).

(1) G®DHs LHYD PEODWHD aler &)

(=) Cungiorer  jereupp  wHHD  epdHH U
Bawsé dmss

(@) CGurgibrer ojereunm HE&

() Qmeu maTSFID

Agricultural sector faces the problem of

(a) slow and uneven growth

(b) 1inadequate and incomplete land reforms

(c) 1inadequate finance

(d) all of the above

Qeomd, e Cseor wLOHML & &My, <BHW  ApeTD
OIGINT: QsmfpsreaseEsd <0 o—————

Qam_mgliuLl L ar.

(1) wpsomd HLL sTeSHl
(=) @QreawrLmd L sresdd
(@) eparord L sresdle
()  mremasmd L srengdled
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Three steel plant in Bhilai, Rourkela

Durgapur were set up in the
(a) first plan period

(b) second plan period

(¢) third plan period

(d) fourth plan period

<iSls Cauamaaurilibaner alphi@n Ggmple

and

(1) geamrad (=) & ssay

(@) uEss Apsey (m)  @@dy 2B

The industry that provides largest employment in
India 1s

(a) jute (b) sugar

(c) cotton textile (d) 1iron and steel

BPO ereng @hluGLLinhieug

(<) Bharat Petro Organisation
(<) Business Process Outsourcing
(@) Big Portfolio Outsourcing

() Business Partners Organisation
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BPO stands for

(a) Bharat Petro Organisation

(b) Business Process Outsourcing
(¢) Big Portfolio Outsourcing

(d) Business Partners Organisation
Wergsd 2 nusHuder qlinenufed
U@ Seriiuflwug).

(=) B Her g&dulan

(=) emibler g&dufler

(@) e Wer s&dufler

(FF)  pmeneusarter

In terms of generation of power
contribution, is the maximum.

(a) hydro electric power
(b) nuclear power

(c) thermal power

(d) others

pporelgl  phsTETOS Sl
weraflann CETHSS5.
(=1) Ceuernamenlnd (s,
(=) SplsTlésEnss
(@) eupew @iudhE
(F)  Gurerey WamPnsEnsE
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10.

11.

First five year plan gave top priority to
(a) agriculture

(b) SSI

(c) poverty alleviation

(d) large scale industries

Coélw  euer &8 @G ———— D et
DDSSUILIL LG

(=) 1945 (<) 1946

(@) 1952 () 1965

National Development Council was constituted in
the year

(a) 1945 () 1946
() 1952 (d) 1965
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.
(=) Qubens cuethsailer MTSTET eUMSSHET WITEn6 ?

What are the important types of natural
resources?

Or

(=) UMEDEGSHTET SMTEUHIGET WTene ?

What are the causes of poverty?
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12.

13.

14.

ugewll Yl fuller QudLsamens gnmis.
State the features of green revolution.
Or
Ceuarmamrento HlElsasmem ETrHISmeT 69l6md@s.

Explain the sources of agricultural finance.

Qamplewwinrssaar Sesaaamen ellerdEs.
Explain the problems of industrialisation.

Or
SmlsmPe mHmeiamsatien p&sdwsgieusdeanen
S TRTHT:

Examine the importance of small scale
industries.

Cund@eursg e (midlen el e

urliGueenaullener alemd@s.

Explain the scope of transport coordination.
Or

aurareulll CUITG@HeUrSSl6m BaTenLOSMETd: Fnmis.

State the advantages of air transport.
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15.

16.

(=)

Qurmertgsmrs S Bsdler  FmUUbgnIGeT

wmeneu ?

What are the essential features of economic
planning?

Or

@ndwuredler S s  @GHupedear  uamflsamer
ellemd @s.

Explain the functions of planning
commission.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

(=)

Answer should not exceed 600 words.
@b Cummermgmy  Cwwburliger g
auermisatien Litidaer wHIEEH CFiis.

Evaluate the role of mineral resources in
economic development of India.

Or

w&sam  Csmens  Gouglnder  seps  LOHMID

QurmeTrgTy Séssamen 6llaTsEs.

Explain the social and economic problems of
population explosion.
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17.

18.

19.

(=)

@idwl  Qummernsrysdled  Ceuermanrenouldlcr
WsHwsgieusdamar eflourd.

Discuss the importance of agriculture in
Indian Economy.

Or

weawrLe  Fyrolyp  eumdufer  Crrésmisamer
ellemd: .

Explain the objectives of Regional Rural
Banks.

Curerey Qamn  smeweseaiear  mSlalHamer
SMyeanilamer < Uis.

Examine the factors that are responsible for
sickness in large scale industries.

Or

@ndwreiley Snperey QgmODITROSET FhilHHs
Falg Wl (WPSEWDTET HESDEMET Y TTUIs.

Analyse the major problems faced by small
scale industries in India.

@bSHlui QummerTgmy auar FHufed
Curg@eursdlen LBiSamer 6lers@s.

Explain the contributions of transport in the
economic development of India.

Or
Page9 Code No.:22105B



20.

(<=4)

(=)

@S @ruileColuflen HEsEHMET W TTUis.
Analyse the problems of Indian railways.
@b ghsrarhs S msaflar Cprasmiser
wmeneu ?

What are the objectives of Indian Five Year
Plans?

Or

12-cug @mpsram® HlLsHar  Czmeellsaner
oNlaTé 5.

Explain the failures of 12th five year plan.
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(6 pages) Reg. No. :

Code No. : 22105 E Sub. Code : GMEC 63

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
INDIAN ECONOMY
(For those who joined in July 2012-2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct Answer :

1. The state with the largest forest
(a) Arunachal Pradesh
(b) Sikkim
(c) Assam

(d) Bihar



What is India’s rank in world population?

(a) first (b) second

(¢) third (d) fourth

The share of agriculture in India’s national income
has ———— over the years.

(a) remained constant

(b) 1increased

(¢) decreased

(d) first decreased and than increased

Agricultural sector faces the problem of

(a) slow and uneven growth

(b) 1inadequate and incomplete land reforms
(¢) 1inadequate finance

(d) all of the above

Three steel plant in Bhilai, Rourkela and
Durgapur were set up in the

(a) first plan period

(b) second plan period

(¢) third plan period

(d) fourth plan period

Page2 Code No.: 22105 E



10.

The industry that provides largest employment in
India is

(a) jute (b) sugar

(¢) cotton textile (d) 1iron and steel
BPO stands for

(a) Bharat Petro Organisation

(b) Business Process Outsourcing

(¢) Big Portfolio Outsourcing

(d) Business Partners Organisation

In terms of generation of power
contribution, is the maximum.

(a) hydro electric power

(b) nuclear power

(¢) thermal power

(d) others

First five year plan gave top priority to

(a) agriculture

(b) SSI

(¢) poverty alleviation

(d) large scale industries

National Development Council was constituted in
the year .

(a) 1945 (b) 1946

(c) 1952 (d) 1965

Page3 Code No.: 22105 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

Answer should not exceed 250 words.

What are the important types of natural

resources?
Or
What are the causes of poverty?
State the features of green revolution.
Or
Explain the sources of agricultural finance.
Explain the problems of industrialisation.

Or

Examine the importance of small scale

industries.

Explain the scope of transport coordination.
Or

State the advantages of air transport.

Page4 Code No.: 22105 E
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15. (a) What are the essential features of economic

planning?
Or
(b) Explain the functions of planning
commission.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Evaluate the role of mineral resources in
economic development of India.

Or

(b) Explain the social and economic problems of
population explosion.

17. (a) Discuss the importance of agriculture in
Indian Economy.

Or

(b) Explain the objectives of Regional Rural
Banks.

18. (a) Examine the factors that are responsible for
sickness in large scale industries.

Or

(b)  Analyse the major problems faced by small
scale industries in India.
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19.

20.

(a)

(b)
()

(b)

Explain the contributions of transport in the
economic development of India.

Or

Analyse the problems of Indian railways.

What are the objectives of Indian Five Year
Plans?

Or

Explain the failures of 12t five year plan.
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Code No.:22106 B Sub. Code : GMEC 64
B.A. (CBCS) DEGREE EXAMINATION,

APRIL 2020.

Sixth Semester
Economics — Main
PUBLIC FINANCE
(For those who joined in July 2012 — 2015)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Qumrgs Qurmener SjaflliLeneu geTm L (HLD
(1) saflwr (=) GOWLUD
(&) <& (m) Geuelggienp
Collective goods could be supplied only by

(a) Private (b) Household

(¢) Government (d) Foreign



@aummled e CFaaelarid QU(HEUMEn LI
1Bl amrud) e 6tmm 6ot

(=) saflpu B8 (=) gaflwur B4

(&) Qurg H ()  GQeuefipri® Bl

Which one’s expenditure is determine the income
belongs to

(a) Individual finance (b) Private finance
(c) Public finance (d) Foreign finance

QuimgF Caaveeor Carlurhser TG MHMIL_GIT
QaT yenLwig ?

(=) S (<) Camium@

(@) eldlsar () &l

The principles of public expenditure relates to
(a) policy (b) theory

(¢) cannons (d) law

@nHureile Wearubmdlern &emrs@ger

(<) GsrEuy Hig (=) Gurg

(@) Qsv HI (7)) Qe simansg)d
Accounts maintain in India are

(a) Consolidated fund

(b) Public

(¢) Contingency fund

(d) All the above

Page2 Code No.:22106B



erdl  eufl el @enmeumen eumiliL]

(<) euwren el (=) Cprg

(@) wepups () Blmieuenr

Less tax evade 1s possible in

(a) Income tax (b) Direct tax

(¢) Indirect tax (d) Corporate tax

@mEdlamariu®hsgso Camlur el o (Heurssluie

(=1) Qgremenweurdlger (<) Semadlwsbd

(@) CabiaM g (7))  Qupmseirdser
The concentration theory wad advocated by
(a) Classical (b) Keynesian

(¢) Cambridge (d) Psysocrates

@aeundler epemm e SPLiL| euenswnar auifl

(1) euemOmeT Guifl

(<) Campd eufl

(&) epagear el ey

()  sbuefl eurf

Which one is a special type of tax?

(a) Income tax (b) Professional tax

(¢) Capital levy (d) Corporate tax
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10.

Blenawmgsd QUDTESL e eTelemn <enLpLiL

(=) o dreLer (<) CeueflesLer

(@) Wiseameu sLar ()  Blenowimer sLe
Generally unfunded debt are called

(a) internal (b) external

(¢) floating (d) permanent
@pdureler ehs ArFlweenwliy  edfufler S
HlE@wames Qb G wrs: smawel el ?
(=) 3 (<) 270

(@) 280 () 289

Which article of Indian Constitution provides for
the appointment of a finance commission by the
President of India?

(a) 3 (b) 270

() 280 (d) 289

gowwrer  alfe-Cswey  FlLsms  LGUTPGID
aualumsSluiel ser

(=) OQsrenenweurdlser

(=) ydw Csmerenoeurdlser

(@) Eerapweurdser

(F)  Seneagpd@ et 2 éremeu

Who advocated only balanced budget?

(a) Classical (b) Neo-classical
(c) Keynesian (d) Neo-Keynesian
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11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(=)

Answer should not exceed 250 words.
Qurgbldludenr LM FDLHSLIET  &(HSSIEHMET
upml elleul.

Describe the subject matter of public finance.
Or

Q@@ SHHTL AT&leT LewtHer wWreaneu ?

What are the functions of a modern state?

Qurgg Ceellen CrTEEHBIGET Wmane ?

What are the objectives of public
expenditure?

Or

(<) CQumgd Geeiler alenereyser LpM el

(=)

Describe the effects of public expenditure.
weDps eufluler Bmarend WOHMID  Sawsemar
udm Fmmis.

State the merits and demerits of indirect
taxation.

Or

(=) aflgrésbd wHOID WwrHNFSer Gueyser LD

eSleul.

Describe the nature of shifting and incidence
of taxes.
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14.

15.

16.

(=)

QurgssL6T eTeueumn auasliLi(HSsLUMHE D ?
How is public debt classified?
Or
QUGS HLEISSHTET SMTETBIGET ULITENE ?
What are the causes for public debt?
aure] ey FLLsSer cuansser wng)?
What are the classification of Budget?
Or
Blapssl oMb  FTsmar  (PBDEGL 2 6Ter
Coumum’enL &meurs.

Bring out the difference between programme
and performance budget.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

2550  emey  Faps  Baer  Cemiumien
Spermis.

Critically examine the principle of maximum
social advantage.

Or

Qurg HFsEn  saflur  HHs@En o 6rer
Coumum’enL &meurs.

Bring out the difference between public
finance and private finance.
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17.

18.

19.

(=)

QurgF Qevamel auamsliLi(hsgls.
Classify public expenditure.
Or
Qurgéd Gewey allHullemear elerd@s.
Explain the cannons of public expenditure.
Qurgl eumeumuller LIOCaM PPEOBIGET WITEnE ?

What are the various sources of public
revenue?

Or
aufl  Ceaugg Soear ereucurm  Sjerell(Hged
LHMLD AFeller GH@mDSeT wWreanel ?

How to measure and limits of taxable
capacity?

@ndwureiley QUIEZIGSL6T euer F& WHMLD S

STTETBIGENET 6leumd).

Discuss the growth and causes for public
debt in India.

Or
SLGT § @ (PEDSEET YTTIS.

Examine the methods of debt redemption.

Page7 Code No.:22106B



20.

(=)

@ndwredley  eagey-Cswey JlLgws s

QeFlyLd (LPEPDHESET WiTen6 ?

Explain about the budgetary procedures in
India.

Or

saoLdl @Quaw(h HHs  Guedear uflbgienyser
upm elleurd).

Discuss about the recommendations of last
two finance commaissions.
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(6 pages) Reg. No. :

Code No. : 22106 E Sub. Code : GMEC 64

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
PUBLIC FINANCE
(For those who joined in July 2012 — 2015)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Collective goods could be supplied only by
(a) Private (b) Household

(¢) Government (d) Foreign



Which one’s expenditure is determine the income
belongs to

(a) Individual finance
(b) Private finance
(¢) Public finance

(d) Foreign finance

The principles of public expenditure relates to

(a) policy (b) theory

(¢) cannons (d) law

Accounts maintain in India are
(a) Consolidated fund

(b) Public

(¢) Contingency fund

(d) All the above

Less tax evade is possible in
(a) Income tax (b) Direct tax

(¢) Indirect tax (d) Corporate tax

The concentration theory wad advocated by
(a) Classical (b) Keynesian
(¢c) Cambridge (d) Psysocrates
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10.

Which one is a special type of tax?
(a) Income tax

(b) Professional tax

(¢) Capital levy

(d) Corporate tax

Generally unfunded debt are called

(a) internal (b) external

(¢) floating (d) permanent

Which article of Indian Constitution provides for

the appointment of a finance commission by the

President of India?
(a) 3 (b) 270

(© 280 (d) 289

Who advocated only balanced budget?
(a) Classical (b) Neo-classical

(¢) Keynesian (d) Neo-Keynesian
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

Answer should not exceed 250 words.
Describe the subject matter of public finance.

Or

What are the functions of a modern state?

What are the objectives of public
expenditure?

Or

Describe the effects of public expenditure.

State the merits and demerits of indirect
taxation.

Or

Describe the nature of shifting and incidence
of taxes.

How is public debt classified?

Or
What are the causes for public debt?

Page4 Code No.: 22106 E
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15. (a)

(b)

What are the classification of Budget?

Or

Bring out the difference between programme
and performance budget.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

Critically examine the principle of maximum
social advantage.

Or

Bring out the difference between public
finance and private finance.

Classify public expenditure.

Or

Explain the cannons of public expenditure.

What are the various sources of public
revenue?

Or

How to measure and limits of taxable
capacity?
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19.

20.

(a)

(b)
(a)

(b)

Discuss the growth and causes for public
debt in India.

Or

Examine the methods of debt redemption.

Explain about the budgetary procedures in
India.

Or

Discuss about the recommendations of last
two finance commaissions.
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B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main

MACRO ECONOMICS - II
(For those who joined in July 2016 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. ——— Gsmluminerg, eu@orear udlielle
o arer  Sesdmar  oNoTds WpoulL  Apged
Carlum_m@Lb.

(=) MasmrGLmeSer (<) smeLmiles
(@) wrrgeden (rF)  addedlen

theory took the first attempt to explain
the problem of income distribution.

(a) Ricardian (b) Kaldor
(¢) Marxian (d) Hicksion



wrisedler eumwmear ey Camum
EMTHSICTETG).

(=1) wdlys Camum gemen

(=) Qurg wAULE CamLim’ i et
(@) =iy wdliys Camum igemer
(FF)  epavger iy Camumigemer

Marxian theory of income distribution is based on

(a) theory of value

(b) general theory of value

(¢) labour theory of value

(d) capital theory of value

Savrerdlor FahmiliLig, CERI0)
Bliremuisslu®hEng.

(=) Csélu aumonerssmed

(<) el igudermed

(@) Quélflow oz ysssdeame
()  eu(mLTETSSTED

According to Keynes, investment is determined by
(a) national income

(b) interest

(c) marginal efficiency of capital
(d) income

Page2 Code No.:22239B



GG GOL_LI Quimgys Gamlumiged, Eereiv

WPSEL_1g e L (N &(mFE .
(1) grewr i (=) Hlay
(@) OQuwrss (F)  gemaflFens

In his General Theory, Keynes considered
, as the only investment.

(a) induced (b) net

(¢) gross (d) autonomous

WsSLH  Qumsd  smssTETS

ellaTgsLil L g).
(=) Severdemed (<=1) wriegederme
(@) fssriGLmeume ()  sreaflenme

The concept of investment multiplier was
explained by

(a) Keynes (b) Marshall

(¢) Ricardo (d) Khan
cllleneraeer Caenau —9®
Bliremruisslu®hdEng.

(=) eumwragdarmme  (<=,) Csm@ Coameu

(@) Qsreoeioy (7)) (<) wbpid (@)
Effective demand was determined by

(a) 1income (b) aggregate demand

(¢) aggregate supply (d) both (b) and (c)
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EPESATLD 6TE LiSS&HSS6nm <pdl fuwm wim?

(1) LIT&E (<=1) Samav
(&) <pLbavils () Y9
Who is the author of the book capital?
(a) Marx (b) Keynes
(¢) Adam smith (d) Pigou

@M  psoralsgies  FepsoTaNg)
auGLiLserts 9M&ssLLGS DS

(=) Qe (<) oparm
(8) Brane (FF) byl

A capitalistic society is divided into
classes.

(a) two (b) three

(¢) four (d) five

ueredwied  Qametens —  cumdlulerme
aulgeUImLGSLILIHS D).

(=1) euenils (<) @ Hpoy

(@) eow ()  QsmPnemene

Monetary policy was formulated by
bank.

(a) commercial (b)  co-operative
(¢) central (d) industrial
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10.

11.

auflefdlgger wHmb CurgssLeayL er CSTLTeLw

Qarerens _ Qamerens eraT
SnP&sLILHE S

(1) vewrs (<) Hés

(@) aliys (FF)  Gu(BLDTES

The policy related with taxation and public debt is
called as ———— policy.

(a) monetary (b) fiscal

(¢) interest (d) 1income

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.
(=) MasmrCLrelen euwrar udliey Camlumiqer
FTISS DTS & (.

Give the essence of Ricardian theory of
income distribution.

Or

(=) erfemememiludied omidedlen eumOTeT LIFITay
CamlunLneng rLliLihdng?

On what grounds is the Marxian theory of
distribution criticised?

(1) WPsOLigerm LedGoum CUESSET WTeneu ?
What are the different types of investment?
Or
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13.

14.

15.

epagar @ngliflaon sssdnar — 6 Gluy
GT(LDGIS.

Write a note on marginal efficiency of
capital.

@em Ceuanablanavd Foblenay — alems @s.
Explain under employment equilibrium.

Or
uanreiss @anL Geuafl erem smsHanen cllars@s.
Explain the concept of inflatinary gap.
origedler  FmpmiLig, Wpgeomatlsgeusdlen
Solilwéyser wreneu?

What according to Marx, are the features of
capitalism?

Or

o Uil LS Camur® — e GOILY eT(ps)s.

Write a note on surplus value theory.

a0 smraTensudlen &mallaer wreneu?

What are the instruments of monetary policy?
Or

Hlgls Csmetens — alemd@s.

Explain — Fiscal Policy.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

16. ()

Answer should not exceed 600 words.
wrigedler eu@orear udiey Camlum’iqeaner
Qgefleuns elerd@s.

Explain clearly Marxian theory of income
distribution.

Or

(<) smoLmfler udliey Camlumiqener < is.

17. (=)

Analyse the Kaldor’s theory of distribution.
WPpFdLgen Serellener Hlianruisdlemy syewtser
WITeneu ?

What are the factors that determine volume
of investment?

Or

(=) Qoo posar sssHnmanyb, @ndblae

18. (=)

WSO (H &S5 nenerb Coumu(Hss)s.

Differentiate marginal efficiency of capital
and marginal efficiency of investment.

YWSSH CHenel eTennm H(HSHenar 6llersEs.

Explain the concept of effective demand.

Or
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19.

20.

Setrerdlws Qummerflwiedieor GRS WLIBIGEmET
ol 6T & G

Explain the characteristics of Keynesian
economics.

wrrgedler 2 epplil] wEHULE Camium’igener
oG Hs.

Evaluate Marxian Labour theory of value.

Or
Tr&Sedw QumrmeTTgTrsdlene Qacuailwied
QumrmeTTgTrsgILar elibHs.

Compare Marxian economics with classical
economics.

veanrellwed Qameransuller CHT&smsET Wmenel?
What are the objectives of Monetary Policy?
Or

Hlgls CQsmerangudlen euanyuiemmaaer alems@s.

Explain the limitations of Fiscal Policy.
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B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
MACRO ECONOMICS - 11
(For those who joined in July 2016 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. —— theory took the first attempt to explain
the problem of income distribution.
(a) Ricardian (b) Kaldor
(¢) Marxian (d) Hicksion



Marxian theory of income distribution is based on

(a) theory of value
(b) general theory of value
(¢) labour theory of value

(d) capital theory of value

According to Keynes, investment is determined by
(a) national income

(b) interest

(c) marginal efficiency of capital

(d) 1income

In his General Theory, Keynes considered
, as the only investment.

(a) 1induced (b) net

(¢) gross (d) autonomous

The concept of investment multiplier was

explained by
(a) Keynes (b) Marshall
(¢) Ricardo (d) Khan

Page2 Code No.: 22239 E



10.

Effective demand was determined by
(a) 1ncome (b) aggregate demand

(c) aggregate supply (d) both (b) and (c)

Who is the author of the book capital?
(a) Marx (b) Keynes
(¢) Adam smith (d) Pigou

A capitalistic society is divided into

classes.
(@) two (b) three
(¢) four (d) five

Monetary policy was formulated by
bank.

(a) commercial (b)  co-operative

(c) central (d) industrial

The policy related with taxation and public debt is

called as ——— policy.
(a) monetary (b) fiscal
(¢) interest (d) 1income

Page3 Code No.: 22239 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Answer should not exceed 250 words.

Give the essence of Ricardian theory of
income distribution.

Or

On what grounds is the Marxian theory of
distribution criticised?

What are the different types of investment?

Or

Write a note on marginal efficiency of
capital.

Explain under employment equilibrium.

Or

Explain the concept of inflatinary gap.

What according to Marx, are the features of
capitalism?

Or

Write a note on surplus value theory.

Page4 Code No.: 22239 E
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15. (a) What are the instruments of monetary
policy?

Or
(b) Explain — Fiscal Policy.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Explain clearly Marxian theory of income
distribution.

Or
(b) Analyse the Kaldor’s theory of distribution.

17. (a) What are the factors that determine volume
of investment?

Or

(b) Differentiate marginal efficiency of capital
and marginal efficiency of investment.

18. (a) Explain the concept of effective demand.
Or

(b) Explain the characteristics of Keynesian
economics.
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19.

20.

(a)

(b)

(a)

(b)

Evaluate Marxian Labour theory of value.

Or

Compare Marxian economics with classical
economics.

What are the objectives of Monetary Policy?
Or

Explain the limitations of Fiscal Policy.
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Code No. : 22239 E Sub. Code : JMEC 61/
SMEC 61

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
MACRO ECONOMICS - 11
(For those who joined in July 2016 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. —— theory took the first attempt to explain
the problem of income distribution.
(a) Ricardian (b) Kaldor
(¢) Marxian (d) Hicksion



Marxian theory of income distribution is based on

(a) theory of value
(b) general theory of value
(¢) labour theory of value

(d) capital theory of value

According to Keynes, investment is determined by
(a) national income

(b) interest

(c) marginal efficiency of capital

(d) 1income

In his General Theory, Keynes considered
, as the only investment.

(a) 1induced (b) net

(¢) gross (d) autonomous

The concept of investment multiplier was

explained by
(a) Keynes (b) Marshall
(¢) Ricardo (d) Khan
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10.

Effective demand was determined by
(a) 1ncome (b) aggregate demand

(c) aggregate supply (d) both (b) and (c)

Who is the author of the book capital?
(a) Marx (b) Keynes
(¢) Adam smith (d) Pigou

A capitalistic society is divided into

classes.
(@) two (b) three
(¢) four (d) five

Monetary policy was formulated by
bank.

(a) commercial (b)  co-operative

(c) central (d) industrial

The policy related with taxation and public debt is

called as ——— policy.
(a) monetary (b) fiscal
(¢) interest (d) 1income
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Answer should not exceed 250 words.

Give the essence of Ricardian theory of
income distribution.

Or

On what grounds is the Marxian theory of
distribution criticised?

What are the different types of investment?

Or

Write a note on marginal efficiency of
capital.

Explain under employment equilibrium.

Or

Explain the concept of inflatinary gap.

What according to Marx, are the features of
capitalism?

Or

Write a note on surplus value theory.
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15. (a) What are the instruments of monetary
policy?

Or
(b) Explain — Fiscal Policy.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Explain clearly Marxian theory of income
distribution.

Or
(b) Analyse the Kaldor’s theory of distribution.

17. (a) What are the factors that determine volume
of investment?

Or

(b) Differentiate marginal efficiency of capital
and marginal efficiency of investment.

18. (a) Explain the concept of effective demand.
Or

(b) Explain the characteristics of Keynesian
economics.
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19.

20.

(a)

(b)

(a)

(b)

Evaluate Marxian Labour theory of value.

Or

Compare Marxian economics with classical
economics.

What are the objectives of Monetary Policy?
Or

Explain the limitations of Fiscal Policy.
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APRIL 2020.

Sixth Semester

Economics — Main

PUBLIC FINANCE
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. SHSHTE) AT& GTEUEUT AMLPSSLILIHF MG ?
(1) Be A7
(=)) sMTeUed HT&HS
(@) sbwells oiys
()  Copsadu ergie|lldena
Now a days how the state is called?
(a) welfare state (b) police state

(c) communist state (d) none of the above



“Qurg) Blfursgdler cumemil, GFwe| WHMID e
ereueUTm amISGaTamn @emssbd GlFuiwiiuhE ermer
eremmieng LHMlw @uiGe Qurg) Bulwed @’ eremm
Qurg) Hldlenws euepTUMISSEUT WITT?

(=) YdE (=) LmebL i

(@) wrraed (rF)  wumevLGer

Who defined public finance as “the subject which
is concerned with income and expenditure of
public authorities and with the adjustment of one
to the other”?

(a) Pigou (b) Dalton

(c) Marshall (d) Bastable
EpsaravTucupmieT ey atm  GQurgFQsmaien
afenerey

D) FWPSTW eUaTTEFS]

(

(<)) supsmw Searisslser

(&) Cunmerrsmy gHPSSTDE
(rr)  Cnaadu Sienarsgb

Which one of the following is the effect of public
expenditure?

(a) Community development
(b) Community riots
(¢) Economic inequality
(d) All the above
Page2 Code No.:22240 B



QurgF Qe eremug) @GmLILG

(=1) wrhle orfler Cswe|ser

(=) wEHW FHen QFewe a6

(@) e drenyrl_SHuller Cswe|ser

()  Gunaadu Sienarsgib

Public expenditure refers

(a) expenditures of the state government

(b) expenditure of the central government
(¢) expenditure of the local government

(d) all the above

EpssraUeuDMET oThs @em wenps euflGsrer
2_GMIEurLD

(=) Qensgl eurl (<=4) eu@meumi eufl
(@) elpuener curl (FF)  Gsmped aul
Which one of the following is an example of
indirect tax?

(a) wealth tax (b) income tax

(¢) sales tax (d) professional tax
Crirps cumluler auflFgHenioen soliLIeUT wimi?

(1) UETSHTT

(<) gL ESHET

(@) wrt g edsstiuGEnCasT Sjeur

()  Cuhaamu ereumilerane

Who bears the burden of a direct tax?

(a) rich people

(b) poor people

(c) on whom it is imposed

(d) none of the above
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BT SrevdsL 6t 6T ?

(=) HHwungsbd QaEiwliuLng sLen

(<) BFwurssd Gelwiul L sLer

(@) Blstu@b sLer

(F)  BLsluLrg sLer

Which is a long period debt?

(a) unfunded debt

(b) funded debt

(¢) redeemable debt

(d) irredeemable debt

Brbsr Oersgissamer o (Heurss Cmlamereriiui (b
&L_6T 6TG)?

(=) 2pusd Hoeyierer sLer

(=) SLLTWE SL6T

(@) HSuwjerar s

(%) 2pusH Snanpp s

Which debt is undertaken for creating permanent
assets?

(a) productive debt (b) compulsory debt
(¢c) funded debt (d) unproductive debt
aurey Bgwey FL L gdler @uieL]

(SN) R(HELSHETNLD (<)) ellfleumen emenLo
(@) sals@nulk (FF)  @eneu SmansgILd
The characteristic feature of a budget

(a) universability (b) comprehensiveness
(¢) specification (d) all of these
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10.

11.

QummetrgTy HS STOSSHDEG gHm eure] CFwe s
S
(=1) swhlere eure| CFwe s 1d
(<)) upPrEGmD eure| Fae|sdl L b
(@) er&8 cuye| Geweys FLLLb
()  Cpsadu enersg)b
The budget which is suitable for depression is
(a) balanced budget (b) deficit budget
(¢)  Surplus budget (d) all the above
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
(=) saflwmt QummeT eremmmed 6Teomen?
What is meant by private goods?
Or
(=) Qurg BFLEED gelwurt BlHulugseid
@G 2 éTer eehmienosamar LI g wWadl(ha.

List out the similarities between public
finance and private finance.

(=) euemigsl Cseilemiger LOMID eleTTEHWDHD
Qrevafermiger LHPl GOILL| cuenrs.

Write a note on development and
non-development expenditure.

Or
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13.

14.

15.

Coélw  eupwrer  udliedld Curgs  Cawellen
clleneTe|semaTs gam)s.
State the effects of public expenditure on
national income distribution.
(T Sobs auflpenma s, Coemaiwimen
g LILIGHL_GHET WTeneu ?
What are the criteria needed for a good tax
system?

Or
e LPS cUTUANET BeTenLOSET WTene?
What are the merits of indirect tax?
sLer S| pepwrer epwser auflaldiifamer
udml elerd@s.
Explain about capital levy method of debt
redemption.

Or
‘gL sfley Bl bl GO euenys.
Write a note on ‘sinking fund’.
eww  rble  ArsEsERsHaL Cuwrar B
uflordm wpemsaer @GOG HS.
Mention the methods of centre-state
financial transfer.

Or
gigeme  (pem  eupey G|  FHLgHlen
Crr&smseT wreneu?
What are the objectives of performance
budget?
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (=) 255 jere] FupsT beod CamLimiqener efleu.

Describe the principle of maximum social
advantage.

Or
(<)) Qumg Blgluflem eTedenevHEne 1.

Examine the scope of public finance.

17. (&) QurgisQeee) dsflliughsrear  sryewThisamern

UGSSTUIS.
Analyse the causes for the growth of public
expenditure.
Or
(=) Qurgissames  sLOUUBSSID  (PEDSEET
efleul.

Describe the methods of controlling public
expenditure.

18. (=) aufledgudnsrer Crrasnisamen alemsa@s.
Explain the objectives of taxation.

Or
Page7 Code No.:22240 B



19.

20.

(<)

aufl Qesgib Hmevar HlraumuilsELd smyewtsamer
elleurl.

Describe the factors determining taxable
capacity.
QuglssL_aflen ChTEsnRIGMaT 66Ts Es.
Explain the objectives of public debt.
Or
QuTgIssE_aler allenere sHeneT afloumd).
Discuss the effects of public debt.
@pdwureiler  airey Oswey HL  désns
swmTi& @b QFweapepnEamar al6md@s.

Explain the budgetary procedure followed in
India.

Or

udQemmermreug HHa@pelear Lfbgienrsamar
elleul.

Describe the recommendations of Eleventh
Finance Commission.
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PUBLIC FINANCE
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Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Now a days how the state is called?
(a) welfare state (b) police state
(¢) communist state (d) none of the above

2. Who defined public finance as “the subject which
is concerned with income and expenditure of

public authorities and with the adjustment of one
to the other”?

(a) Pigou (b) Dalton
(¢) Marshall (d) Bastable



Which one of the following is the effect of public
expenditure?

(a) Community development
(b) Community riots
(¢) Economic inequality

(d) All the above

Public expenditure refers

(a) expenditures of the state government
(b) expenditure of the central government
(¢) expenditure of the local government

(d) all the above

Which one of the following is an example of
indirect tax?

(a) wealth tax (b) income tax

(¢) sales tax (d) professional tax

Who bears the burden of a direct tax?
(a) rich people

(b) poor people

(c) on whom it is imposed

(d) none of the above

Page2 Code No.: 22240 E



10.

Which is a long period debt?
(a) unfunded debt

(b) funded debt

(¢) redeemable debt

(d) irredeemable debt
Which debt is undertaken for creating permanent
assets?

(a) productive debt

(b) compulsory debt

(¢) funded debt

(d) unproductive debt

The characteristic feature of a budget
(a) universability

(b) comprehensiveness

(¢) specification

(d) all of these

The budget which is suitable for depression is
(a) balanced budget (b) deficit budget
(¢)  Surplus budget (d) all the above
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

()

(b)

(a)

(b)
(a)

(b)

What is meant by private goods?

Or
List out the similarities between public

finance and private finance.

Write a note on development and non-
development expenditure.

Or

State the effects of public expenditure on
national income distribution.

What are the criteria needed for a good tax
system?

Or

What are the merits of indirect tax?

Explain about capital levy method of debt
redemption.

Or

Write a note on ‘sinking fund’.

Page4 Code No.: 22240 E
[P.T.O.]



15. (a)

(b)

Mention the methods of centre-state
financial transfer.

Or

What are the objectives of performance
budget?

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

Describe the principle of maximum social
advantage.

Or

Examine the scope of public finance.

Analyse the causes for the growth of public
expenditure.

Or

Describe the methods of controlling public
expenditure.

Explain the objectives of taxation.

Or

Describe the factors determining taxable
capacity.

Page5 Code No.: 22240 E



19.

20.

(a)

(b)
(a)

(b)

Explain the objectives of public debt.

Or
Discuss the effects of public debt.

Explain the budgetary procedure followed in
India.

Or

Describe the recommendations of Eleventh
Finance Commission.
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Code No. : 22241 B Sub. Code : JMEC 63

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
ECONOMICS OF PLANNING AND DEVELOPMENT
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. QuUTmETTSTY eueT &F&l erenmg ————— Br(HsmeTé
& (ﬂjg;@]
(1) euaT(pHDd (=) euer &8 GenHw
(8) euer B3 (F)  euar &8 @aem
Economic growth relates to ——————— countries.
(a) developing (b) underdeveloped

(c) developed (d) undeveloped



“@m Bl gmpurs @Qm&Hang gOaTaTDTL g
g’ WIHeL W dabhmn @&l ?

(M) < .GTar.B &ev (<) Ga.erid Seirar

(&) Y9 () asdléev

“A country is poor because it is poor” — whose state
is this?

(a) R.N. Nurkse (b) J.M. Keynes

(¢) Pigou (d) Hicks

CrmevLmellenr  sapmitivg  Qumr@etrgry  euer F&luler
(P LI UITGTG)

(=) afleupuimer supsmuLD

(=) ety Hleved@ (phensw Hlaned

(@) ey Hleve

()  ergieylléenay

According to Rostow, the first stage of economic
growth is

(a) the traditional society

(b) the precondition for take off

(¢) take off

(d) none

Qu@b 2 Bgse Camiumeal euphidlwe

(1) berevL_am (=) B &ev

(@) Grmeemnessr Cyrier (/F)  umed(Heller

The ‘Big push’ theory was given by

(a) Leibenstein (b) Nurkse

(¢) Rosetein Rodan (d) Boldwin

Page2 Code No.:22241B



anpgr® - Cumo  wrHilger —— BT (H&S
QUTmHSTG.

(=1) =ACwfésm (=) @bglwr

(@) Cg wafl (m)  @udensg

Harrod — Domar models are not applicable to
country.

(a) America (b) India

(¢) Germany (d) England

gaad Qummer wrdfleow ufbgmrsseu wr ?
(=) eusdléd wHmibd WywrarbsT

(=) B &ov

(@) &evrar

()  Cuohammdu ereumiléana

Who advocated wage-good model?

(a) Vakil and Brahmananda

(b) Nurkse

(¢) Keynes

(d) None of the above

@nHwr Qurmerrgrrssle Ceuarmeamreniouden LirkiE
(=) =dsfsg aiméng

() G@pHI BADS)

(@) BHeweowrs o 6rerg

() Cuohambdlu ergieysleene
Page3 Code No.:22241B



The share of agriculture in Indian economy is
(a) increasing

(b) falling

(c) stationary

(d) none of the above

sHGug Qibdlwreine Comelwnang
(<) epogeand Uablhs Ggmpleap b
(=) 2@plys Aeblbs Asmfladp b
(@) paier llevoowju Bs GgTHOEIL LD
()  @emeu ergla|leorena

Today India needs

(a) capital intensive technology

(b) labour intensive technology

(¢c) ultra modern costly technology
(d) none of these

@ndwredler (pse HiL&@wpeiler sameau
(@) Carsprser (=) K.N. Gsen
(®) meuap ored Cpm ()  creumSloema

The chairman of first planning commission of
India was

(a) Lokanathan (b) K.N. Sen
(c) Jawaharlal Nehru (d) None

Page4 Code No.:22241B

[P.T.O.]



10.

11.

12.

@uemLreug gbsTar®h S sHd — &
WaEEWSFHeuFD QETHSSILLLG).

(1) Meusmu euer &8l
(<) Gemfp asar &4
() aup@bamw @YILLg
() saalane| SamLeig|
The second five year plan gave top most priority to
(a) agricultural development
(b) industrial development
(c) poverty eradication
(d) attainment of self sufficiency
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.
(=) aumienudlen BESHFGHLPOD CTETMHTE 6TETET ?
What is meant by vicious circle of poverty?
Or
(=) Qumernsmy  euer & wHMD  QUTEHETTSTY
wenGarppsams CoinuBssis.
Distinguish between economic development
and economic growth.

(<=1) CrmevGLmeie Fa DTG Qg merenLowlmer
FPSTUSH T @QUIDLISET WTenel ?
What are the features of traditional society
according to Rostow?

Or
Page5 Code No.:22241B



13.

14.

15.

(=)

(=)

(<)

(=)

gflgw euer &8 Sjami@perpuder @Gampur(Bseamer
Ul g (His.

List out the limitations of balanced growth
strategy.

apgr(h  CLmo  wrdfl  euerpd  BIHSEHEE
crelauanaulled QumpbgID ?

How the Harrod—Domar models are
applicable to under developed countries?

Or
anyr(-GLmo  wrdlflufler erHCamerser wrenel ?

What are the assumptions of Harrod-Domar
model?

Qzmfler mIL LSS er Coameusamar Fnmis.
State the need for technology.

Or
aueT(BLD BT(H&EH&EE 28bhs CsTOmIL LSS amer
ereueumm Gg BOFH LTI ?
How do you select the technology suitable
fort the developing countries?
sbsra( SLmgafler wpasHw  GHECHTeTgHer
wmeneu ?

What are the important objectives of five
year plans?

Or
@ LD GOSgH GHUY euemys.
Write a short note on rolling plan.

Page6 Code No.:22241B



16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

(=)

(=)

Answer should not exceed 600 words.

QumrmerTgTy  euer FSl&@E — SOLWNE 2 6Ter
sryenilseaner afleu.

Describe the factors hinders the economic
development.

Or
Q@ eueT Bg  eU@HD  Brliger  @QudLsemer
ellemd @s.

Explain the characteristics of a developing
country.

LT &erdler QuTmeTTg Ty cuer &G
Camurm’igenear Snarmie Caws.

Critically evaluate the Marxian theory of
economic growth.

Or

(<) Maar CLreller euer &flé Gamlum igemer alleurl.

Describe the Ricardian theory of growth.
angr® - GLmo  eler &8 wrdlflanws eNlerd@s.

Explain the Harrod — Domar growth model.
Or

(=) el Qumrmer auer &8 wrdlflanws eNlemd@s.

Explain the wage-good model of growth.

Page7 Code No.:22241B



19.

20.

pagard Cehbs HsmflonussnE sreumer

aunsmisamer afleuil.

Describe the arguments in favour of capital
Intensive technique.

Or

Qumrmermgmy  euer FHudled  Ceuermesmantoudlesr
Lnidlener <puis.

Examine the role of agriculture in economic
development.

b e (b S L rsefler Ggrevedldamer
STTETRISENET <15

Examine the causes for the failure of five
year plans.

Or
@pdHw L misafler snsameangsamer cfleuifl.

Describe the achievements of planning in
India.
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Reg. No. :

Code No. : 22241 E Sub. Code : JMEC63

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
ECONOMICS OF PLANNING AND DEVELOPMENT
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Economic growth relates to ——————— countries.
(a) developing (b) underdeveloped
(¢) developed (d) undeveloped

2. “A country is poor because it is poor” — whose state
is this?
(@) R.N. Nurkse (b) J.M. Keynes

(c) Pigou (d) Hicks



According to Rostow, the first stage of economic

growth is

(a) the traditional society

(b) the precondition for take off
(¢) take off

(d) none

The ‘Big push’ theory was given by
(a) Leibenstein (b) Nurkse
(¢) Rosetein Rodan (d) Boldwin

Harrod — Domar models are not applicable to

country.
(a) America (b) India
(¢) Germany (d) England

Who advocated wage-good model?
(a) Vakil and Brahmananda

(b) Nurkse

(¢) Keynes

(d) None of the above

Page2 Code No.:22241 E



10.

The share of agriculture in Indian economy is
(a) increasing

(b) falling

(c) stationary

(d) none of the above

Today India needs

(a) capital intensive technology
(b) labour intensive technology

(¢) ultra modern costly technology

(d) none of these

The chairman of first planning commission of

India was
(a) Lokanathan (b) K.N. Sen
(¢) Jawaharlal Nehru (d) None

The second five year plan gave top most priority to
(a) agricultural development

(b) industrial development

(c) poverty eradication

(d) attainment of self sufficiency

Page3 Code No.: 22241 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Answer should not exceed 250 words.

What is meant by vicious circle of poverty?
Or

Distinguish between economic development
and economic growth.

What are the features of traditional society
according to Rostow?

Or

List out the limitations of balanced growth
strategy.

How the Harrod—Domar models are
applicable to under developed countries?

Or

What are the assumptions of Harrod-Domar
model?

State the need for technology.
Or

How do you select the technology suitable
fort the developing countries?

Page4 Code No.:22241 E
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15. (a) What are the important objectives of five

year plans?

Or

(b) Write a short note on rolling plan.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 600 words.

16. (a) Describe the factors hinders the economic

development.
Or
(b) Explain the characteristics of a developing

country.

17. (a) Critically evaluate the Marxian theory of

economic growth.

Or

(b) Describe the Ricardian theory of growth.

18. (a) Explain the Harrod — Domar growth model.
Or

(b)  Explain the wage-good model of growth.

Page5 Code No.:22241 E



19.

20.

(a)

(b)

()

(b)

Describe the arguments in favour of capital
Intensive technique.

Or

Examine the role of agriculture in economic
development.

Examine the causes for the failure of five
year plans.

Or

Describe the achievements of planning in
India.

Page6 Code No.: 22241 E
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B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
LABOUR ECONOMICS
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. @wsarear eubhasuie, o amplbear @Qmdblameo

2 HuGs Smer —————— Q®&Sng.
(=) Go@paurs (=) =dsbrs
(@) ed wopwrs (F)  ymewors

When compared to capital, marginal productivity
of labour is

(@) less () high

(c) negative (d) zero



QaminHsrena Uit wimem ser QumDLITEID
————— cu(pElaTment .

<i) parasais B
<)) Slymonigefledmba)
8) Caafiprhsaiadmbs)
m) 9 wrbleoniselsdmbgl

The industrial workers are mainly from

(a) towns (b) wvillages

(¢) foreign countries (d) other states

DTS I @BbSHw QgmODHFmnis Fal_Lanwoliy
————— 2D Yaor(h 2 (HeUTSSLILIL L g).

(=) 1900 (=) 1910

(@) 1920 (F) 1930

All India Trade Union Congress was formed in the
year

(a) 1900 (b) 1910

© 1920 @ 1930

gl (U Curgdlédy ———— CUANEHEHET 2_GTGTE.

(=) Qrar® (=) eperm

(&) @b () prenE

There are ——— types of collective
bargaining.

(a) two (b) three

(c) five (d) four

Page2 Code No.:22242 B



uewtlwmer &er smgefler ~ —————— D)
Cuerarenoulier LkiE Qumdlermer .

(o) meGo Curshler () GrBHSsaiar

Workers participate in management through their

(a) collective bargaining
(b) representatives
(¢) functions

(d) productivity

aRlsdmDd ————— QamPemer s@Ep&@E Ced
o_aremerGiym SBQ&LOTD Lewfls &
SIS QTLD.

(=1) 10 (<=,) 50

(@) 100 () 80

Works Committee will be setup where there are
more than ——————— employees.

(a 10 (b) 50

() 100 (d 80

uamentm_(h  @smfleorer  jenwliL, CsmhsraeL]
uenflwimer safler mevemr GFwouThsamer ———————
uen&seTTs AfNsHearng.

(=) Quan (=) eperm
(8) pren (FF) b8

Page3 Code No.:22242 B



The International Labour Organisation has
divided the industrial workers welfare activities
into ———— groups.

(a) two (b) three

(¢) four (d) five
Génaumelamaipmier argl Lp Gsmflorar pedr asdéE
BO® GTHESGST LTI ?

(=) Apmar(é steve (<) STILSLD

(&) sz agd () &L eusd

Which one of the following is a best example for
extra mutual welfare facility?

(a) canteen (b) creches

(c) first aid facility (d) housing

Qgmfleorer  @QuUnihE FlLdD 2 ——— <D
S ar(h AMPsLILOSSUILLL ).

(=) 1923 (<) 1925

@) 1932 () 1952

Workers Compensation Act was introduced in the
year

(a) 1923 (®b) 1925
() 1932 (d) 1952

Page4 Code No.:22242 B
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10. @.erev.g. Hiodp P56

QsTLisiulLg).

(o) smeryfd (=) Qsrasssredd
(@) Aaustdude (7)) g
ESI Scheme was first started in

(a) Kanpur (b) Kolkatta

(¢) Sivakasi (d) Madurai

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

11. (@) @psw 2 eplpliLimer sarler QudLsamer
oflemd @ s.

Explain the characteristics of Indian
Labours.

Or
() eepuurer fpar — @@ o GHUY TWEs.
Write a short note on labour efficiency.
12. (@) Qzmpsmsmiseaier LLCaM eUMESHET WTene ?
What are the different types of trade unions?
Or
Page5 Code No.:22242 B



13.

14.

15.

(=)

(=)

QzmOD SsTTM eTerUSeT CUTHET WMg? AHem
LGeum eUlqeIBIGET WTene ?

What is meant by industrial dispute? What
are its different forms?

uanfls G eder Ursmer Lamflaamer 6llerd@Hs.

Explain the main functions of works
committee.

Or
Qzmfleomer soellufer Crrésmiser wTeme ?

What are the objectives of workers
education?

QamPleomer Bear — e GMILL 6T(PFIS.
Write a note on labour welfare.
Or

uiemeTmL(h) o anLpLiLimer Sienolnger

@N&CaTaTsman 6flerd@s.

Explain the aims of International Labour
Organisation.

Qamfleorer @ik FlLib — edlaTé@s.
Explain Worker’s Compensation Act.
Or
Fepss ST g 6r Bl WL Smend dnnis.
State the characteristic features of Social

Insurance.

Page6 Code No.:22242 B



16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

(=)

Answer should not exceed 600 words.

HobOuw sssrar  udGeum — STranThisamenr

elleurdl.
Discuss the various causes for migration.
Or

o2 anplillenr Fpenar Bl emulsHlern smrenilsamer
oflemd @s.

Explain the factors that determine labour
efficiency.

QamOn snsmisaier Liewlsmer <, ymiis.
Analyse the functions of trade unions.

Or
gl (W Cursdlern Qeswaapeappullener aflerd@s.
Explain the process of collective bargaining.

@eenr Goeorarennd Fepuuder GFwouThaamer
GINIGES

Point out the activities of joint management
council.

Or

(=) @nbdwuredey  Cuoeonamenwuld  Ggmeomrer

umGsnllenar eleums).

Discuss the workers participation in
management in India.

Page 7 Code No.:22242 B



19.

20.

(=)

(=)

(=)

QamPleomer maaier LrlGuoeamaulianer afleoul.

Describe the scope of labour welfare.

Or

vearm_(h 2 epliimer  anwliber Leanflseamar
oNleoTs 5.

Explain the functions of International
Labour Organisation.

ESI — L gdle pevedlwidLisenar < ymiis.

Analyse the salient features of ESI scheme.

Or

@ndwredle s 19gsslinhEern FPS
LUMGISTUL BLGUIG&HnSSameT alerd@s.

Explain the Social Security measures
adopted in India.

Page8 Code No.:22242 B
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Code No. : 22242 E Sub. Code : JMEC 64

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
LABOUR ECONOMICS
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. When compared to capital, marginal productivity
of labour is
(a) less (b) high
(c) negative (d) zero

2. The industrial workers are mainly from
(a) towns (b) villages

(¢) foreign countries (d) other states



All India Trade Union Congress was formed in the
year

(a) 1900 () 1910

() 1920 (d) 1930

There are ———— types of collective
bargaining.

(a) two (b) three

(c) five (d) four

Workers participate in management through their

(a) collective bargaining
(b) representatives
(¢) functions

(d) productivity

Works Committee will be setup where there are

more than ——————— employees.
(a) 10 (b) 50
(¢ 100 (d 80

The International Labour Organisation has
divided the industrial workers welfare activities
into ——— groups.

(a) two (b) three
(c) four (d) five
Page2 Code No.:22242 E



8.  Which one of the following is a best example for
extra mutual welfare facility?

(a) canteen (b) creches

(¢) first aid facility (d) housing

9. Workers Compensation Act was introduced in the
year
(a) 1923 (b) 1925
() 1932 (d) 1952

10. ESI Scheme was first started in
(a) Kanpur (b) Kolkatta
(¢) Sivakasi (d) Madurai

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

11. (a) Explain the characteristics of Indian

Labours.

Or

(b) Write a short note on labour efficiency.

Page3 Code No.: 22242 E



12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What are the different types of trade unions?

Or

What is meant by industrial dispute? What

are its different forms?

Explain the main functions of works
committee.

Or
What are the objectives of workers

education?

Write a note on labour welfare.

Or

Explain the aims of International Labour

Organisation.

Explain Worker’s Compensation Act.

Or

State the characteristic features of Social

Insurance.

Page4 Code No.:22242 E
[P.T.O.]



16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

Answer should not exceed 600 words.
Discuss the various causes for migration.

Or

Explain the factors that determine labour
efficiency.

Analyse the functions of trade unions.

Or

Explain the process of collective bargaining.

Point out the activities of joint management
council.

Or

Discuss the workers participation in
management in India.

Describe the scope of labour welfare.

Or

Explain the functions of International
Labour Organisation.
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20. (a) Analyse the salient features of ESI scheme.
Or

(b) Explain the Social Security measures
adopted in India.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. QurgIll U@L BISET manggid ——— WL (HID
cupmIsLIL(H&lemmen.
(=) =Apdlammed (<) saflwmferme

(@) Hmeuemsaiame (FF) e Br(hsaertenme
Public goods are provided only by

(a) the government
(b) the private
(¢) the institutions

(d) the foreign countries



SGSI LGRTLBIGET 6Teth LIGD ——— (pSedled
ANWPSLILHSSILILL G|

(=) Sevedemmed (=) wevHGrelfeame

(@) LréLermd (FF)  euUTEEIITE

The term merit goods was first introduced by

(a) Keynes (b) Musgrave
(c) Dalton (d) Wagner

aure|-Gewey b ererm  Glamed

aumigesuilel(Bibgl 2 (Houreg|.

(=) Qegimoerr (=) <pmdCeow

(&) Yneps ()  Qagden

The word budget is derived from ——  word.
(a) the German (b) the English

(¢c) the French (d) the Latin

THS QUL SH LsDedlu SiigliueLulleome
ara]-Ogaaey [ @BdHwmesley THmIG

QamareriiulLg)?
(1) 1987 (<) 1990
(@) 1995 () 2000

Page2 Code No.:22451 B



In which year, zero Base Budget approach was
adopted in India?

(a) 1987 () 1990
() 1995 (d) 2000

HlH& Qsrerangulen Gysmer Crrssid

(=) W Cauma Hlow () wllaldssd

(@) QurgssLer ()  QumrgFQFa|ser
The main objective of fiscal policy is

(a) full employment

(b) taxation

(¢) public debt
(d) public expenditures

Qeweour® HH eaams  smSs)

AN WPSLILHSSILIL L gI?
(=) Geudanymed (<) Gereymed
(@) abdléevmed ()  Hurdulermed

The concept of functional finance was introduced
by

(a) Wagner (b) Lerner
(¢) Hicks (d) Tyagi

Page3 Code No.:22451 B



2 el yenwlilsetien Bl Blreimsid

T AMPSEILI(HE ).
(=) odrermél fl (=) Qumg HlS
(@) salwrt flS () sl Lm & HS

The financial administration of local bodies is
called as

(a) Local Finance (b) Public Finance

(¢) Private Finance (d) Federal Finance

2 gramm_él ewliysdar ——  15g) aflelflés
PlgWLD.

(1) eSlgen (=) Qeaeumsaien

(@) eumwrangdler () ellpueneruder

Local bodies can impose tax on

(a) house (b) wealth

(c) 1income (d) sales

33k &(p&F gL 1D —@
BlepmCeupmiiLi’ L g).

(=) 1950 (=) 1951

(@) 1955 (rF) 1960

The Finance Commission Act was passed on
(a) 1950 (b) 1951
() 1955 (d) 1960

Page4 Code No.:22451 B
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10.

11.

12.

14-cug) 5188 @ paen eneveum wimi?
(=) ol ered. Cadvam (<) eui.ed. Qg
(@) Cs.Cs. Heranm (FF)  p@ymid Fregen

Who 1is the Chairman of 14th Finance
Commission?

(a) Vijay L. Kelkar (b) Y.V.Reddy
(¢ K.K. Sinha (d) Raguram Rajan

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

(<) Curgils vam risdr GHds) @O GHIUY eT(98Is.
Write a note on public goods.
Or

(<) seflwmm LiewsTL_igerfleor Ao udyseer
oNleTE G

Explain the characteristics of private goods.

(=) @m L&D aure-Cgwey SlL_g gl
GWTTSFWLIRBISET WTenel?

What are the features of a good budget?
Or

Page5 Code No.:22451 B



13.

14.

15.

(<)

Lshedlwl SilgLlitienLullevmen are]-0Fwe]

SlL_gdlem auanTwien naeneT 66TsEs.

Explain the limitations of Zero Based Budget

HlEls Qsmerangudlen &medlsamens gamis.

Narrate the policy instruments of fiscal
policy.

Or
Hlgls Csmerengudlenm eurbLS6T wWreneu?
What are the limitations of fiscal policy?

Symol UEhETLSSISETET GUHEUM  LPGOMBISENET

cAlemd: @s.

Explain the revenue sources of Village
Punchayat.

Or
o aremm_& enliLsatlen Lianflaamend snmis.
State the main functions of local bodies.
HEE G — @@ G (8IS
Write a note on Finance Commission.

Or

Page6 Code No.:22451 B



16.

(<) HHs &(pellen Grsment Lewh Hener

Qeuef &6 & memTTs.

Bring out the main functions of Finance
Commission.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

(=)

Answer should not exceed 600 words.

Smamgll  Qurmetrgrrsdler  @Geppum(seamer
Camgl (& sT(hs.
Outline the defects of market economy.

Or

(=) Qumgll LT BISEETLLD, FepSLI LIGHTL BISEETILLD

CaumL(hdss.

Differentiate public goods and social goods.
aurel-dewey JlLsdlear  (WpasdlwsgieisHener
ellens@s.

Explain the importance of Budget.

Or

(=) <irs  aurey-tewey S gdler  iewlibeanen

oMl 6TE G

Describe the structure of the government’s
budget.
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18.

19.

20.

(=)

BlEs Qamerenguflen Gygrer CHT&ESBISMmET ,U1s5.
Examine the main objectives of fiscal policy.
Or

Q@ GUEI(THLD QurmerTgTrsse i3k
Qamerensudler (pasdHwsgialsHaner clemd@s.

Explain the importance of fiscal policy in a
developing economy.

2 _arerm_&l lHludlen @enpur(Hsamer &L lq &sm(hs.
Point out the defects of local finance.

Or

2 amermi_ & FlHluded o e Hassamen FilbFuiwl
2_aTem LibCeuml HL_6lqESE5MeT Fnm)s.

Suggest various measures to solve the
problems of local finance.

BlE& @ péseT eren Hlwblsslinhdlemmen?
Why are Finance Commissions appointed?

Or
14-eug) H18& @peden wp&Hlwinrer LMHS®IsHET

wmeneu?

What are the major recommendations of
14th Finance Commission?
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B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
PUBLIC FINANCE - 11
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Public goods are provided only by
(a) the government
(b) the private
(¢) the institutions

(d) the foreign countries



The term merit goods was first introduced by

(a) Keynes (b) Musgrave

(c) Dalton (d) Wagner

The word budget is derived from —— word.
(a) the German (b) the English

(¢) the French (d) the Latin

In which year, zero Base Budget approach was
adopted in India?

(a) 1987 (b) 1990
() 1995 (d) 2000

The main objective of fiscal policy is
(a) full employment
(b) taxation

(¢) public debt
(d) public expenditures

The concept of functional finance was introduced
by

(a) Wagner (b) Lerner
(¢) Hicks (d) Tyagi

Page2 Code No.: 22451 E



10.

The financial administration of local bodies is

called as

(a) Local Finance
(b) Public Finance
(¢) Private Finance

(d) Federal Finance

Local bodies can impose tax on
(a) house (b) wealth

(c) 1income (d) sales

The Finance Commission Act was passed on

(@) 1950 () 1951
(o 1955 (d) 1960

Who is the Chairman of 14t Finance Commission?
(a) Vijay L. Kelkar

(b) Y.V.Reddy

(¢ K.K. Sinha

(d) Raguram Rajan

Page3 Code No.: 22451 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

Answer should not exceed 250 words.

Write a note on public goods.

Or

Explain the characteristics of private goods.
What are the features of a good budget?

Or
Explain the limitations of Zero Based Budget

Narrate the policy instruments of fiscal
policy.

Or

What are the limitations of fiscal policy?

Explain the revenue sources of Village
Punchayat.

Or

State the main functions of local bodies.

Page4 Code No.: 22451 E
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15. (a) Write a note on Finance Commission.

Or

(b) Bring out the main functions of Finance
Commission.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 600 words.

16. (a) Outline the defects of market economy.

Or
(b) Differentiate public goods and social goods.

17. (a) Explain the importance of Budget.

Or

(b) Describe the structure of the government’s
budget.

18. (a) Examine the main objectives of fiscal policy.

Or

(b)  Explain the importance of fiscal policy in a
developing economy.
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19.

20.

(a)

(b)

(a)

(b)

Point out the defects of local finance.

Or

Suggest various measures to solve the
problems of local finance.

Why are Finance Commissions appointed?

Or

What are the major recommendations of
14th Finance Commission?
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B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
MONEY AND BANKING —II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

. —F Qg @@ Brliger  (perGearmg

(=) cuanlles curid (=) eww eumid
(&) s G emd () Sl Oay auriid
1s the apex bank of the nation.
(a) Commercial Bank (b) Central Bank
(¢) Investment Bank (d) Co-operative Bank



safl el papn ———— Ngeyb Yrélsd
CUDHDE.

(=) @rdlommpdlea (<) SCwMssraien

(@) sear_meile ()  @bdlumele

Unit banking system 1is most popular in

(a) England (b) America

(c) Canada (d) India

SL&T 2 (haums@Lb  uewll o ————— 1)
< sMasiulLg).

(<=1) Csw v (<) orlcllenr Gaerer

(@) eumeL 65U ()  Serev

Credit creation function was supported by

(a) Sayers (b) Edwin Canon

(c) Walter Leaf (d) Keynes

14 cuewtls umilger 0 o————— @eb
CalwwwinmssiuLl L ar.

(=) 1969 (<) 1980

(@) 1990 (F) 1992

14 Commercial banks were nationalised on

(a) 1969 (b) 1980
() 1990 (d) 1992
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e Csmaransuileaner eu@GSE@GD AHSTID LML 555
eTgl"?

(<=1) cuarlles cumd (<) gl (Omey cundl

(@) ewww cumd () B Siemw&ssbd

Which has the power to formulate monetary
policy?

(a) Commercial bank (b) Co-operative bank

(¢) Central bank (d) Ministry of finance
RBI gl 2 LD <2}, 60r(H
BlanmCeummiii’Lg).

(1) 1934 (<) 1949

(@) 1955 (F) 1980

RBI Act was passed in the year

(a) 1934 (b) 1949

(c) 1955 (d) 1980

Gemeu@pd  eThg  @earprerg  Uams6smaransudler
&MHNEEHSE @ HDHS 2 HTTERTLOMELD.

(=) eumdl aigd (=) eufl ey

(@) GumrgF Gewaey ()  Qungs sLer

Which one of the following is a best example for
monetary policy instrument?

(a) Dbank rate

(b) taxation

(c) public expenditure

(d) public debt
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10.

@@ euer(pd Cummettsrsdd LemslgTeTangulle
rsrer CrT&EELTE @) HLILIS

(=) Qummerngmy euer &8l

() vy Couoe Hlow

(@) efleved sl (Huum®

(F)  uLeweisssamen FHLIBHSSHIeg)

The main objective of monetary policy in a
developing economy is

(a) economic growth (b) full employment
(¢) price control (d) create inflation
Werr auidl ojqlitenule) ———————— FT HSSMGLD.
(=) Qavanw garsdlaen (=) ghHsmer

(@) esGu® ellener () Qe amardgb

e-banking is basically —————— oriented.
(a) internet (b) books

(c) manual (d) all of these
e eumbidl ——————— aufl eSS mg)

(1) @eoorusrrer eubidlwaiss

(<)) sywrar eubSuIsEs,

(@) sfls andugse

() Qe SMTHFID

e-banking facilitates .

(a) profitable banking (b) quality banking
(c) speed banking (d) all of these

Page4 Code No.:22452 B
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11.

12.

13.

(=)

(<=4)

(=)

(=)

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

cumidlgaflen LOCauM euamssmeT 6lleTs@Hs.

Explain the different types of banks.
Or

safl eumludler perengaar Liliq el (hHs.

List the advantages of unit banking.

cuewtls cumIdlGenar Caflwiwwrsdw e
Crrésnigamaril L iqwiedl(Hs.

List the objectives of nationalisation of
commercial banks.

Or
LG 2 (HUTEHD — (T GO 6T(LpS)Is.
Write a note on credit creation.
aww euidluier CarhmsHaner serMls.
Trace the origin of Central Bank.
Or
eww euidlufer Grsrar uamilsamer 6ilerd@s.

Explain the main functions of Central Bank.
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14. (=) vewsCaretans — allaTsEs.
Explain Monetary Policy.
Or
(=) uasCareaTansuiler &melsameTs Fnmid.
State the various instruments of monetary
policy.
15. (&) wWler audl @ @GO eT(pgis.
Write a note on e-banking.
Or
(=) ubm e uder HemenDEET Wmene ?
What are the advantages of debit card?
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 600 words.
16. (=) seafl cuidl pevpuler Seanwgamer allers@s.
Explain the evils of unit banking system.

Or
(=) Slewer curiidl (panmUler HETEMOSET WTE6 ?
What are the merits of branch banking

system?
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17.

18.

19.

@@ euaT(hd Qummerrsrrsdled euamfles cumidluder

uniidlenar ellensEs.

Explain the role of commercial banks in a
developing economy.

Or
sLan 2 (heunsssHlenar LTdsdlemn smyentlsaer
Ui (Hs.
List the factors that affect credit creation.
sLar sL(Quurliger Crrésmigamer allers@s.
Explain the objectives of credit control.

Or
@ndlw flg e eumdluder Lantlsamer HLLGHS.
Evaluate the functions of RBI.

Liewstd Ol & meTen s udl eor Gy meo Crrésnisamar
cflemd @ s.

Explain the main objectives of monetary
policy.

Or
(I QUEIT(THLD QummermgmySSled

uardGarereansuer Litidlanar alleurd.

Discuss the role of monetary policy in a
developing economy.
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20. (=) Wer-aukdudar patembsmen aTé@s.
Explain the advantages of e-banking.
Or
(<) RTGS-ar ApiGueysemar Ll igwicd §s.
List the features of RTGS.
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(6 pages) Reg. No.:
Code No. : 22452 E Sub. Code : SMEC 63

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Economics — Main
MONEY AND BANKING - II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. ——isthe apex bank of the nation.
(a) Commercial Bank
(b) Central Bank
(¢) Investment Bank

(d) Co-operative Bank



Unit banking system 1is most popular in

(a) England (b) America
(¢ Canada (d) India

Credit creation function was supported by

(a) Sayers (b) Edwin Canon
(c) Walter Leaf (d) Keynes

14 Commercial banks were nationalised on

(a) 1969 (b) 1980

() 1990 (d) 1992

Which has the power to formulate monetary
policy?

(a) Commercial bank (b) Co-operative bank

(¢) Central bank (d) Ministry of finance

RBI Act was passed in the year
(a) 1934 (b) 1949
() 1955 (d) 1980

Page2 Code No.: 22452 E



10.

Which one of the following

monetary policy instrument?

(a) Dbank rate
(b) taxation
(¢) public expenditure

(d) public debt

is a best example for

The main objective of monetary policy in a

developing economy is

(a) economic growth (b)
(¢) price control (d)
e-banking is basically

(a) internet ()
() manual (d)

e-banking facilitates

(a) profitable banking
(b) quality banking
(c) speed banking

(d) all of these

Page 3

full employment

create inflation

oriented.
books

all of these
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

Answer should not exceed 250 words.

Explain the different types of banks.

Or

List the advantages of unit banking.

List the objectives of nationalisation of
commercial banks.

Or

Write a note on credit creation.

Trace the origin of Central Bank.

Or

Explain the main functions of Central Bank.

Explain Monetary Policy.

Or

State the various instruments of monetary

policy.

Page4 Code No.: 22452 E
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15. (a) Write a note on e-banking.

Or
(b) What are the advantages of debit card?

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Explain the evils of unit banking system.

Or
(b) What are the merits of branch banking

system?

17. (a) Explain the role of commercial banks in a
developing economy.

Or

(b) List the factors that affect credit creation.

18. (a) Explain the objectives of credit control.

Or
(b)  Evaluate the functions of RBI.
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19.

20.

(a)

(b)

(a)

(b)

Explain the main objectives of monetary
policy.

Or

Discuss the role of monetary policy in a
developing economy.

Explain the advantages of e-banking.

Or
List the features of RTGS.
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B.A. (CBCS) DEGREE EXAMINATION,
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Sixth Semester
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INDIAN ECONOMY - 1I
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PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. LITeUeNS POFETD CUANGHETITS
s ILHSSILHEDG.
(<) Qe (=) epanm
(@) prene () @bl
Capital is broadly classified into —— types.
(a) two (b) three

(¢ four (d) five



Lafls POSATGHED DL MbiEG6UG!
(=) <idley (=) Sperw
(@) wssafler Hmer () Qe Samarsgb

Human capital includes
(a) the knowledge

(b) the skill
(c) the capacities of the people
(d) all of these

ppevsar Syl Ha@b, Aummernsmy werCarHnsHE H @0
————— Qsm_ | o aTemg.
(=) erdlfleowimen

(=) CpilenLwmenr

(@) wempsLTET
() (=) wpgid (§) Gramhid

There 1s a ———— relationship between capital
formation and economic development.

(a) negative (b) positive

(¢) indirect (d) both (a) and (c)
epgeans Sl fHulldy ————— Blenauaer 2 aTerer.
(=) b3 (<) pren

(&) eparm () Qraw(

Page2 Code No.:22453 B



There are ——————— stages in capital formation.
(a) five (b) four

(¢) three (d) two

Tl PO Bleanas Flenm erar AenpssLu(HSHng ?
(=) Gsmfled gievp (=) Covatmammening gienm
(@) eumailug gieom () Caeneus gianm
Which is called tertiary sector?

(a) industrial sector (b) agricultural sector
(¢) trade sector (d) service sector

2 85 erelled, @BHur  ————— Quiflw
<ifledlwd wHomb Csrfled neanss wefls F&Hullanens

Qs mer(haTerg.

(1) vgsTeIg) () BBsTOS

(@) epearmToUF, ()  erlLmeug)

India has the ————— largest scientific and
technical man power in the world.

(a) tenth (b) fifth

(¢) third (d) eighth

————— eremgl 2 ethrl(h  CQummeTTsySdenen
2 &L QUTHATTSTISSIL 6T @) eI T(@LD.
(1) 2@sl QuUTmETTSTILD
(=) 2608 DWLDTES6
(@) e esarmeilu emEidlenearTiiL
()  Qemeu SmaTSFID
Page3 Code No.:22453 B



means integrating the domestic
economy with global economy.

(a) global economy (b) globalisation
(¢) global integration (d) all of these

© & LOWILDTEHSH 1980sefev Qg m_ridlerTaib,
2_GTELDWITET 2 HgIHE) ———————— LD Y, ETTIq 6D FTEIT
QaTrhidwg)

(=) 1985 (<) 1988

(@) 1991 () 1995

Though globalisation began in 1980’s, but the real
thrust started in the year

(@) 1985 (b) 1988

() 1991 (d) 1995

s@ULLUUTD, LIGRTLD GTETMILD
SMP&aILHEDG).

(=) FLLSEDE Ymibumer
(=) sawsdliuLmg
(@) <delssiiuLmg

()  Cuhamdu Sjemearggb

Black money is also called as ———— money.
(a) 1llegal (b) unaccounted
(c) unreported (d) all the above

Page4 Code No.:22453 B
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10.  oarped ererm  Cgmdd —————— Qameradledl (mbgl

2 (IHEUTETE).

(1) Ggg weir (=) Qagder

(&) 9Cyeps () sl

The word corruption 1is derived from the
word.

(a) German (b) Latin

(¢c) French (d) Tamil

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 250 words.
11.  (©) walseuer apasard eTarm shSHlanar 6lers@Hs.
Explain the concept of human capital.

Or
(<) wallseler epaosarsdler LOGUM 6Ulg6EUBIHENETS

FMIS.

State the different forms of human capital.
12. (@) wposars Syl Huller WP&EWSFeus S enen

Ul igwied (.

List the importance of capital formation.

Or
Page5 Code No.:22453 B



13.

14.

15.

)

(<)

@nbdurede epasars SHrldullenears Lndlsslern
srrenlsener QouelsGEmenT &.

Bring out the factors that affecting capital
formation in India.

@rdureilanr  Cemeus geop  GNSE RO
SN PED Qam(.

Give an introduction on services sector in
India.

Or
@ndwredler uverarml(H eurenflugHed Coameus
glempuliler Lniflener eNlemd@s.

Explain the contribution of service sector in
India’s foreign trade.

gl Sl — e GNIUL eT(pss.

Write a note on Cyber crime.
Or

serpaflen Sw efleneresanar 6lled@s.
Explain the evil effects of corruption.
2 OHWDUIDTESHED 6TeTD H(HoSHamen allerd@s.

Explain the concept of globalisation.

Or
QeuafiBm(h CERINC G (a0 &Sl 6 éur
& wrafls@b srramismens dmmns.

Narrate the factors that determine foreign
investment inflow.
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16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

(=)

(=)

@w Briger Gumrmettasry  (perGCarhmssle
walseler pasarsdler Lindlaer alleuifl.

Describe the role of human capital in
economic development of a country.

Or
wailsaler epesear SHrlsuiled o drer Hasesamer
NI

Analyse the problems of human capital
formation.

@ndlwredle EPOSH 6T Sy &lufer
Qewepanmuilener 6fleré@Hs.

Explain the process of capital formation in
India.

Or
@pdureie ppasear Hrld aigsdmean oidsfss

2 arem LGN BL 6l EHNSHMET ,U1s%.

Analyse the various measures to increase
rate of capital formation in India.
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18.

19.

20.

(=)

(=)

(=)

@idw  Qumrmerrgrrsdler Csameusd glanmsarter
WaHwggeussamen aloundss.

Discuss the importance of services sector in
India economy.

Or

@ndwreile Ceenaus glanmsafler
Qewdur@samer HULAHS.

Evaluate the performance of services sector
in India.

2 &I TSAIS S, 2ASTEUMET QUG MBI SENEIT
paraiamaliLbhsss.

Highlight the arguments in favour of
globalisation.

Or

2 @sWEEOler S cllanera|samer cflaTs@s.
Ilustrate the evil effects of globalisation.
UL uansSlamers sl (UuBss uULCeumn
Q&TETENS BHLGUIGHENSHEMETH Fn s .

Suggest various policy measures to control
black money.

Or

ueer  wFHUbplnder @bdlu  Qurmerrgrysdler
BETen STEESH e < FTiis.

Analyse the impact of demonetization on
Indian economy.
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B.A. (CBCS) DEGREE EXAMINATION,
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Fourth Semester
Economics — Allied
ENTREPRENEURIAL DEVELOPMENT — II
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Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1.  AsrfleoweamearGeurt eremm eumisams
QumAuilell(mhgl smellssiuLlLg).

(1) Ggioer (<) HCrés

(@) Qosser ()  9Q7Ere

The word entrepreneurship has been derived from
language.

(a) German (b) Greek

(¢) Latin (d) French



@@ QamlapenarGaur eramLcUT 6(m
(=) QLT srh@GuUeT

(=) SfenwLlImerT

(@) ussTEsL GewiueuT

(FF)  @eel Smarsgih

An entrepreneur is a/an

(a) risk bearer (b) organiser
(¢c) 1innovator (d) all the above

<L LIT@DTD reGevmel e Qewgrssaflsse
Cam_ump) FMTHGIETerg).

(<) waflls Csameusaer

(<) Qummernsry Casameusemar
@) seps Caameusamnar

() <irdlue Coameusaer

Abraham Maslow’s motivation theory is based on

(a) human needs (b) economic needs
(¢) social needs (d) political needs

Qumeurflurer Qzmfld paarGeurTaear jeamel(hLD

@@L Cuohlsreruerser.
(=) <5 (<=)) GmDaeumer
(@) lgmar () 10s odswrear
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Most of the entrepreneur are risk

raters.
(a) high (b) low
(¢) moderate (d) very high

Qarfléopaaralear Lngsslern &mrenflaertelen
(=) Feps sryanflaer

(<)) uerum () srrenilser

(@) Qummernsmy sryewtser

(FF)  @eel Smarsglh

Factors affecting entrepreneurship growth are
(a) social factors (b) cultural factors
(¢) economic factors (d) all of these

@M sl Lrarebulmear o (heurss CsaneuliL(Bib

GphsLUL g pursefler eramanilsams

@) 10 (/F) 20

The minimum number required to form a
partnership firm is

(a) 2 ® 5
() 10 (d 20

Page3 Code No.:22459B



wsoreugl wLrHe  HEs  spsbd

Blmieutiur L g
(=) QLevedludlev (<) LEpeTd
(@) weuuie ()  Qeerenaruded

The first state finance corporation was established
in

(a) Delhi (b) Punjab

(¢) Mumbai (d) Chennai
sWOPBETH Gsmhd WPseS B spsd i
SIWSSILLL G|

(=) 1949-e0 (<) 1950-éb
(@) 1960-& (FF)  1969-éd

The Tamil Nadu Industrial Investment
Corporation Ltd. was setup in

(a) 1949 (®) 1950
(e 1960 (d) 1969

ApiQzmfled  FlmeuamiseErsE — CsameuliLpdlern
SDATSHF) Caeneus@pLd WHmILD 2 g6l (@pid
ppeLDd eULPraIsLILI (D& eTmer.

(<) SIDCO (<) DIC
(@) NSIC () SISI

All the services and supports required by small
scale industries are provided by

(a) SIDCO (b) DIC
(¢0 NSIC (d) SISI
Page4 Code No.:22459B
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10. DRDA-ér geneveuim wimit?

(1) wreUL L U wir

(=) (WPBOMWEST

(@) HlE emwsea
() Qazmpligiamn emw&s
Who is the head of DRDA?

(a) District Collector
(b) Chief Minister
(¢) Finance Minister

(d) Minister of industry
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
11. (e éppare Gemflaowpaee - @, @Y
T(PGIS.
Write a note on small scale entrepreneurship.
Or
(<) @bdumeiie Ll (Hhmaey Qzm e penaray

IPHSHETET STTETHRISEHET WTEHG ?

What are the reasons for the downfall of
co-operative entrepreneurship in India?
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12.

13.

14.

()

Qzmepenaralled L LILIMHMED 6r6i ?
Why creativity in entrepreneurship?

Or
QarfloepaarGourflar  gseid  GQgrLmleaen

ereueUTm GllenaTeydTeTs &S (LplgULd ?

How can an entrepreneur’s communication
be made effective?

selwumer curenflugder @uieLsamer ellaTs@s.

Explain the features of sole proprietaryship.
Or

gl Lrameniouflen SennseT Wmene ?

What are the demerits of partnership?

wmble Qs mHed Gutbum_ () &Lp&5SS 6

Lenll&anerd dnmis.

State the functions of State Industrial
Development Corporation.

Or
sODBTH  WPSSL(H  SPFHD  CULPHEIGESTIG LI

2 gaflg UL misamer allerd@s.

Explain the scheme of assistance provided
by Tamilnadu Industrial Investment
Corporation Ltd.

Page6 Code No.: 22459 B



15. (=)

(<)

@ndw  Gsmpe Cubur(@h eumduder 5
SAFTIBISMET 656TE 5.
Explain the financial sources of IDBI.

Or

DRDA — g @hiy erwpss.
Write a note on DRDA.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=)

(=)

UL LIUTHmeled 2 6TeT L GET WTene ?
What are the barriers to creativity?
Or

ewm Cepdlsyorer  QzmapanarGeumeer
@uesemer allaTsEs.

Explain the characteristics of a successful
entrepreneur.

Sihmerey Qamflevapenaraier Sésds@mer
LTS,
Analyse the problems of small scale
entrepreneurship.

Or
Qsmepenare;  Guobumige  UeTanm(H
Bineuarsigefler Lkdlenar elleufl.

Describe the role of MNC’s in entrepreneurial
development.
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18.

19.

20.

()

(<)

()

()

(=)

Bliminggler merannsaner alems @s.
Explain the advantages of a company.

Or

Qamflepenareiler auariESluldlener bliranTudlgeslemm
QuUTHETTST ETewTSEMaT Fnmis.

State the economic factors that determine
entrepreneurship growth.

SIDBI-éir uianflgener eflerd@s.

Explain the functions of SIDBI.
Or

SIDCO-érr uienflsaner wHIAHSE.

Evaluate the functions of SIDCO.

wrell L Qgmhle eppwigdler Linidleaner <, ymiis.

Examine the role of District Industrial
Centre.

Or

Qs m e penaray Cobum’ g6 cuentls
cuniglsatler Lnidlanar efleurs.

Discuss the role of commercial banks in
entrepreneurship development.
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Code No. : 22459 E Sub. Code : SAEC 41

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Fourth Semester
Economics — Allied
ENTREPRENEURIAL DEVELOPMENT — II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. The word entrepreneurship has been derived from

language.

(a) German
(b) Greek
(¢) Latin

(d) French



An entrepreneur is a/an

(a) risk bearer (b) organiser

(¢c) innovator (d) all the above

Abraham Maslow’s motivation theory is based on

(a) human needs (b) economic needs

(¢) social needs (d) political needs

Most of the entrepreneur are risk
raters.

(@) high (b) low

(¢) moderate (d) very high

Factors affecting entrepreneurship growth are
(a) social factors (b) cultural factors
(¢) economic factors (d) all of these

The minimum number required to form a

partnership firm is

(a) 2 b)) 5
(o 10 (d 20

Page2 Code No.: 22459 E



10.

The first state finance corporation was established

in
(a) Delhi (b) Punjab
(¢) Mumbai (d) Chennai

The Tamil Nadu Industrial Investment

Corporation Ltd. was setup in
(a) 1949 (b) 1950

(¢ 1960 (d) 1969

All the services and supports required by small

scale industries are provided by

(a) SIDCO () DIC
(0 NSIC (d) SISI
Who is the head of DRDA?

(a) Dastrict Collector
(b) Chief Minister
(¢) Finance Minister

(d) Minister of industry

Page3 Code No.: 22459 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Write a note on small scale entrepreneurship.

Or

What are the reasons for the downfall of
co-operative entrepreneurship in India?

Why creativity in entrepreneurship?

Or

How can an entrepreneur’s communication
be made effective?

Explain the features of sole proprietaryship.

Or

What are the demerits of partnership?

State the functions of State Industrial
Development Corporation.

Or

Explain the scheme of assistance provided
by Tamilnadu Industrial Investment
Corporation Ltd.

Page4 Code No.: 22459 E
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15.

16.

17.

18.

(a)

(b)

Explain the financial sources of IDBI.

Or
Write a note on DRDA.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)

(a)

(b)

What are the barriers to creativity?

Or

Explain the characteristics of a successful
entrepreneur.

Analyse the problems of small scale
entrepreneurship.

Or

Describe the role of MNC’s in entrepreneurial
development.

Explain the advantages of a company.

Or

State the economic factors that determine
entrepreneurship growth.
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19.

20.

(a)

(b)
(a)

(b)

Explain the functions of SIDBI.
Or
Evaluate the functions of SIDCO.

Examine the role of District Industrial
Centre.

Or

Discuss the role of commercial banks in
entrepreneurship development.
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(8 pages) Reg. No. :
Code No. : 22443 B Sub. Code : SMEC 21

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Second Semester
Economics — Main
MICRO ECONOMICS - 11
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. eEndu  sresded sgrefl  Dsweyd, @mdblamod
Qeea|b Ceullgsd Camer@Epd Lerafl
(o) Gopbsuls Qudblows dsway
(=) SFsul s grmafl Qe
(@) Goppsuls syrsfl Gawey
() <Slsuls @Qmdl Hlavowsbsane]

In the short run, average cost and marginal cost
curves intersect at the point where

(a) MCin minimum (b) AC in maximum

(¢ ACin minimum (d) MC in maximum



G@nbssETe Cswey Camhsmer LMTHLILG

(=) Czemeuuder gemenn

() o $35 GpHl@ose

(@) wmmdlern edflgrssmy ald

() Csemeu 6filf

Short-run cost curves are influenced by

(a) nature of demand

(b) Dbusiness conditions

(¢c) law of variable proportions

(d) law of demand

B& Geur Ceaumul L LT Bisamer GUMLD Fhang
(<) BlepeyiCumiy (=) wpoflew

(&) @oa wopflewn (F)  wphoflenl Cumiy

Consumers are likely to get a variety of goods
under

(a) Perfect competition

(b) Monopoly

(¢)  Duopoly

(d) Monopolistic competition

wpomflenwls  Gumins Cerliur@h eerm  HIGTH
Qam_ YL wg)

(=1) J.R. adléev (<=1) FrupGeucdger

(@) Yo () E.H. embu &feir
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The book ‘Theory of Monopolistic Competition’ is
associated with

(a) J.R. Hicks (b) Samuelson
(¢) Pigou (d) E.H. Chamberlin

Aésr GLraflanr  aumgé  Gemlumiiger U, eumfb
Caremms Smyemrid

(o) Blegder Ssrar Hleo o Mapwwmerfen o fano
(=) e@pllar Lppré@G®D

@) Quimsiiar sersssamd

() 2.pusslsE Hle o fleawwreriler LkisaliL

According to the Ricardian theory of rent, rent
arises due to

(a) Ownership rights of the landlords

(b)  Scarcity of labour

(¢) Niggardliness of nature

(d) Contribution of landlords to production

Cumel aumybd epeld GUPLILIHID euHeTUl

(=) Qubesuler perblareanL

(<) CeueTmenTgienn LIGHTL HISET

(@) weaflger epobd 2 HauUTGESULUHD  &HANSHEHLD,
QupslhsEnd

(FF)  QamPdgimn LT RisaT
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Quasi-rent is the income derived from

(a) Free gifts of nature

(b) Agricultural products

(¢) Man made machines and appliances
(d) Industrial products

g HlF Camum’ e eflgsel

(1) <Lb evlblG (<) flsasr G

(@) J.S. 0 () &b S

Wage fund theory is given by

(a) Adam Smith (b) Ricardo

(0 J.S.Mill (d) Schumpeter

Fmellenw UL migET  wOmb  uamfladr  eped
QeuafliL(HSgIeug

(=) UaTEHn el (<) 2@ Fned

(@) snardls gmaed ()  Hleveowners gnedl

When wage is expressed in terms of goods and
services, it is known as

(a) Money wage (b) Real wage

(¢) Temporary wage (d) Fixed wage

Semallwu ghmiliLig, eully GreirLIg,

(=) B ewow M (&CasrHrLg

() vagamg Cengss meddHUUsDHE

(@) vemgws Cuy CpréssdlnE @ausd®uUsHS

() erdl are HEsuwLHD Farepbadw Fell LLSHE
uemgang meudHULSDHE
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10.

11.

According to Keynesian theory, interest is paid for
(a) Foregoing liquidity

(b) Holding money as an asset

(¢) Holding money for the transaction

(d) Holding money to avoid future uncertainty
&DI L fler ampmitig, @eTud @)&eT FTTETLD

(@) UpsTESLD

(<)) BFFWLHD ST STHhIGSED

(&) Qb gppd

(FF)  Cemeranto

According to Schumpeter, profit is the reward for
(a) Innovation

(b) Uncertainty bearing

(¢) Risk taking

(d) Management

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(=) Blewewmear Gewenalbd, wrmdlern GFmenaiwn
Caumu(5g15.
Distinguish between fixed and variable costs.
Or
(=) B sre Qv Carhgman allerd@s.

Explain the long run cost curves.

Page5 Code No.:22443 B



12.

13.

14.

15.

(=)

(<)

(=)

Blepme i Cumiguiler @uicsaner alleurl.
Narrate the features of perfect competition.
Or
wpHmfenwuler cuamssamer eilemd@s.
Explain the types of monopoly.
Cumadl aumyd 6Tam Lig DS FH(HhISES S(Hb.
Brief the concept of Quasi-rent.
Or
aumyslen peliens Camlum el efleTé@s.
Explain the modern theory of rent.
o amentd  Faellenw Bl @muiE@n  srraflaamens
S (5.
Account the factors determining real wages.
Or
Qamflh shsRISEHD, Fmelluyd ererug LD
GOy 5.
Write a note on Trade Union and Wages.
Quorss  ealgewwd, Har  euligepwubd
Caumu(sg15.

Distinguish between Gross interest and
Net interest.

Or

Page6 Code No.:22443 B



(<) @erusdnarer BlEswnmHm SETELDE

Camliurlen elleTé@s.
Explain the uncertainty theory of profit.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=) Endusre dswe) Camrhemer afleurl.
Discuss the short-run cost curves.

Or

(<) veCoumy sbHens Goblawsailes AR wHmibd
MR-&@upérer Qsm epu <y ls.

Analyse the relation between AR and MR
under different market conditions.

17. (@) @womflewuded oloew - onusd Bl arwsoms
oNleTé 5.

Explain price out put determination under
monopoly.

Or
(=) wpomfenwls GuriiquileT @uILSEr wraeu ?

What are the features of monopolistic
competition?
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18.

19.

20.

(=)

(=)

(=)

udl efpsrer  @mdlflane  2HusH  Smer
Camiur’ e QFTESIH S([HS.

Summarize the marginal productivity theory
of distribution.

Or

fégsm GLmedler QUMTE Cam_um_en
il FarHgILer Fmermiis.

Critically examine the Ricardian theory of
rent.

enplitere| gneadls Camum e aflend@s.
Explain the subsistence theory of Wages.

Or
g6l B8l Camumien afleurd).
Discuss the wage fund theory.
algssrear B ew efmuus  Csmiumien
YNV

Examine the liquidity preference theory of
interest.

Or

@Qorusdnsrear  @Qusstlaos  Camlumieanl
cflemd @ s.

Explain the Dynamic theory of profit.
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(6 pages) Reg. No. :

Code No. : 22443 E Sub. Code : SMEC 21

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Second Semester
Economics — Main
MICRO ECONOMICS - 11
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. In the short run, average cost and marginal cost
curves intersect at the point where

(a) MCin minimum (b) AC in maximum

(¢ ACin minimum (d) MC in maximum

2. Short-run cost curves are influenced by
(a) nature of demand
(b) Dbusiness conditions
(c) law of variable proportions
(d) law of demand



Consumers are likely to get a variety of goods
under

(a) Perfect competition

(b) Monopoly

(¢) Duopoly

(d) Monopolistic competition

The book ‘Theory of Monopolistic Competition’ is
associated with

(a) J.R. Hicks (b) Samuelson

(¢) Pigou (d) E.H. Chamberlin
According to the Ricardian theory of rent, rent
arises due to

(a) Ownership rights of the landlords

(b)  Scarcity of labour

(¢) Niggardliness of nature

(d) Contribution of landlords to production

Quasi-rent is the income derived from

(a) Free gifts of nature

(b) Agricultural products

(c) Man made machines and appliances

(d) Industrial products

Page2 Code No.: 22443 E



10.

Wage fund theory is given by

(a) Adam Smith (b) Ricardo

(¢) J.S.Mill (d) Schumpeter

When wage is expressed in terms of goods and
services, it is known as

(a) Money wage (b) Real wage

(¢) Temporary wage (d) Fixed wage

According to Keynesian theory, interest is paid for
(a) Foregoing liquidity

(b) Holding money as an asset

(¢) Holding money for the transaction

(d) Holding money to avoid future uncertainty

According to Schumpeter, profit is the reward for
(a) Innovation

(b) Uncertainty bearing

(¢) Risk taking

(d) Management

Page3 Code No.: 22443 E



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

Distinguish between fixed and variable costs.
Or

Explain the long run cost curves.

Narrate the features of perfect competition.
Or

Explain the types of monopoly.

Brief the concept of Quasi-rent.
Or

Explain the modern theory of rent.

Account the factors determining real wages.
Or

Write a note on Trade Union and Wages.

Distinguish between Gross interest and
Net interest.

Or
Explain the uncertainty theory of profit.

Page4 Code No.: 22443 E
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Discuss the short-run cost curves.

Or

Analyse the relation between AR and MR
under different market conditions.

Explain price out put determination under
monopoly.

Or

What are the features of monopolistic
competition?

Summarize the marginal productivity theory
of distribution.

Or

Critically examine the Ricardian theory of
rent.

Explain the subsistence theory of Wages.
Or

Discuss the wage fund theory.
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20. (a) Examine the liquidity preference theory of
interest.

Or
(b) Explain the Dynamic theory of profit.
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2020.
Fourth Semester

Economics — Main

INDUSTRIAL ECONOMICS
(For those who joined in July 2012-2015)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. —————— is a unit of ownership, administrative
and control.
(a) Firm (b) Plant
(¢) Industry (d) None of these

2. In the Fourth stage of industrailisation, Machines
begin to be used to manufacture machine with
which to produce all types of —————— goods.
(a) Primary (b) Industrial

(¢) Consumer (d) Luxury



A separately branch of economics bordering with
the discipline of geography is known as

(a) Industrial location

(b) Industrial Policy

(¢) Industrial Economics

(d) None of the above

‘Industries whose products are costly to carry on

account of fragility, perishability, are located in
close proximity to market’ said by

(a) Prof. Kuchhal (b)  Prof. Florence’s

(¢) Prof. Weber (d) Prof. Pandey

In India, most of the capital is raised through the
sale of

(a) shares

(b) goods

(c) services

(d) both (b) and (c)

Agglomerative factors include
(@ Gas () Water
(¢) Both (a) and (b) (d) None of these

Page 2 Code No.: 7074



10.

In which industries accounting more number of
labours who engaged in maximum number?

(a) Textile industries

(b) Cement industries

(¢) Electronic industries

(d) Paper industry

The jute manufacturing industry which came to be
established in India in the year

(a) 1885 (b) 1886

() 1887 (d) 1985

Engineering, machine tools, ship building,
railways are the example of

(a) Jute industry

(b) Iron and steel industry

(¢) Cement industry

(d) Sugar industry

The programme for small-scale industries were

reviewed by the ——————— committee.
(a) Karve (b) Dandeker’s
(c) Pandey (d) Summit’s
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

What is forward and backward linkages in
industrialisation?

Or

Write a short note on public sector pricing
policies.

Mention the importance of industrial
finance.

Or
List out the types of foreign capital.

What are the tools for improving labour
productivity?

Or
Write a short note on small and large scale

industries.

Point out the criticisms of Weber’s theory of
location.

Or
What is development banks?

Page 4 Code No.: 7074
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15. (a)

(b)

Define industrial sickness.
Or

State some strategy for industrial growth in
India.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Describe the defects of private sector
industries.

Or
Illustrate the independence of industrial

sectors in India.

Enumerate the arguments for and against of
Foreign capital.

Or
Discuss the sources of industrial finance in

India.

Critically examine the weaknesses of trade
Union Movement in India.

Or

Analyze economic reforms and industrial
growth in India.
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19.

20.

(a)

(b)

(a)

(b)

Explain the factors influencing industrial
location.

Or

Discuss the problems of cotton textile
industries.

Elaborate industrial policy of 1991 in India.

Or

‘Cement industry — an asset to India’ —
Discuss.
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2020.
Fourth Semester
Economics — Core
LABOUR ECONOMICS
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  The demand for factor is a/an.
(a) Cross demand
(b) Price demand
(¢) Income demand

(d) Derived demand



The process of identifying the sources for
prospective candidates and to stimulate from to
apply for the Jobs.

(a) Selection
(b) Recruitment
(¢) Placement

(d) Training

The statistics on Unemployment is collected by

(a) RBI (b) CSO

() NSSO (d) IMF

Which among the following measures the intensity
of poverty?

(a) Head Count Matio

(b) Poverty gap

(¢) Squared poverty gap

(d) Per capita income

Work Committee should be set up in an industry
which employs.

(a) 50 labourers

(b) 100 labourers

(¢) 200 labourers

(d) 500 labourers

Page 2 Code No. : 7406



10.

The minimum wages act was passed in the year

(a) 1948 (b) 1956
(c) 1947 (d) 1991
Industrial Disputes Act was passed in the year
(a) 1947 (b) 1950
(c) 1952 (d) 1970

What is the minimum strength of members
prescribed for the trade union to be registered
under the Trade Union (Amendment) Bill 2000?

(a) 4 (b) 6

(c) 7 (d) 10

National Renewal Fund (NRF) was unstituted for
the purpose of

(a) Restructuring and modernisation of industries
(b) Rural housing

(¢) Rural roads

(d) Rural Water Supply

The Second Natural Commission on Labour was
headed by

(a) Gajendragadkar

(b) Ravindra Varma

(¢) V.V.Giri

(d) Mandal
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

Explain the Factors influencing the demand
for labour.

Or

Brief the methods of recruitment of firms.

Outline the impact of technological change
and modernisation on employment.

Or

Write a note on Employment policy in Five
Year Plans.

Explain the various concepts of Wages.

Or
Brief Bonus system and profit sharing.
Specify the achievements of Labour Unions.

Or

Assess Indian Labour laws and practices in
relation to international labour standards.

Page 4 Code No. : 7406
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15. (a) Explain the concept Social security of Labour.

Or

(b) Define Exit policy and indicate its
implications.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a) Discuss the characteristics of Indian Labour
market.

Or

(b) Explain the significance of Rationalisation of
industries. Also state its objections.

17. (a) Discuss the types and measurement of
Unemployment in India.

Or

(b) Make an assessment of  Educated
Unemployment in India.

18. (a) Explain the various theories of Wage

determination.
Or
(b) Discuss Wage determination in various
sectors.
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19.

20.

(@)

(b)

(@)

(b)

Discuss the Growth. Pattern and structure of
Labour Unions in India.

Or

What are the causes of industrial disputes?
Explain the mechanism of preventing and
settling industrial disputes.

Enumerate the problems of Child and Women
labour in India.

Or

Make an assessment of state policies with
respect to social security and labour welfare in
India.
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M.A. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Fourth Semester
Economics — Core
HUMAN RESOURCE MANAGEMENT
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  HRM involves
(a) Planning of human resources
(b) Transportation
(¢c) Pricing
(d) Allocation



The main groups of factors influencing human
resource management.

(a) Economic factors
(b) Organizational factors
(¢) Cultural factors

(d) Social factors

The main objectives of HR planning are
(a) Optimum use of existing human resources

(b) Forecast future requirements for human
resources

(¢c) To link HR planning with organizational
planning

(d) All of the above

The recruitment and selection process aimed at
right kind of people.

(a) At right place

(b) At right time

(¢) To do right things

(d) All of the above

Page 2 Code No. : 7407



The standard of personnel is represented by the
job specification, as developed through:

(a) dJob evaluation
(b) Job analysis

(c) Job satisfaction
(d) All of the above

Remedial training is arranged to

(a) Overcome the shortcomings in the behaviour
and performance of old employees

(b) Encourage the old employees
(c) Promote the old employees
(d) None of the above

The influence of attitudes on training effectiveness
are

(a) Reactions

(b) Learning and behaviour
(¢) Productivity improvement
(d) All of the above

‘X’ theory is

(a) Pessimistic in approach
(b) Creativity approach

(c) Positive approach

(d) Self-direction
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10.

11.

12.

is defined as the record of outcomes
produced on a specific job function or activity
during a specific time period.
(a) Performance (b) Work function
(¢) Evaluation (d) None of the above

The following technique(s) is based on the critical
incident approach.

(a) Behaviorally anchored rating scales (BARS)
(b) Critical incident technique

(¢) Both

(d) None of the above

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Explain the nature of human resource

management.
Or
(b) State the objectives of human resource
management.

(a) Narrate the objectives of human resource
planning.

Or

(b) Indicate the process of recruitment.
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13. (a)

(b)

14. (a)

(b)

15. (a)

(b)

Explain the need for training.

Or

Write a brief note on self-development.

Expound the pros and cons of Reward.

Or

Write the process of compensation plan.

Distinguish between promotion and demotion.

Or
Outline the essentials of feedback.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a)

(b)
17. (a)

(b)

Classify and explain the functions of human
resource management.

Or

Discuss the role of human resource manager.

Briefly explain the need and importance of
human resource planning.

Or

Critically review the sources of recruitment.
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18. (a)
(b)
19. (a)
(b)
20. (a)
(b)

Describe the different types of training.
Or

Enumerate the methods of executive
development.

Examine Herzberg’s theory of motivation.

Or

Discuss the objectives of Fringe benefits.

Explain the pre-requisites of a sound transfer
policy.

Or

Assess the methods of performance
evaluation.
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Code No. : 7408 Sub. Code : PESM 43

M.A. (CBCS) DEGREE EXAMINATION, APRIL 2020.
Fourth Semester
Economics — Core
PUBLIC ECONOMICS AND PUBLIC FINANCE
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. A public good is
(a) neither rival nor excludable
(b) rival but not excludable
(¢) both rival but excludable

(d) not rival but excludable



Economists consider effects of started project on
other parts of firm (or) on environment of firm is
called

(a) foreign effects (b) externalities

(c) weighted effects (d) opportunity effects

Cost which has occurred already and not affected

by decisions is classified as

(a) sunk cost (b) occurred cost

(c) opportunity cost (d) replacement cost

Optimum budget approach stresses on the
to government budgetary planning.

(a) application of mathematical tools

(b) application of modern economic analysis

(¢c) both

(d) none of the above

The level of public expenditure tend to expand

with

(a) development activities

(b) political freedom

(c) poverty and income equality

(d) none of the above
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10.

Which of the following is a direct tax?

(a) Sales tax (b) VAT

(¢) GST (d) Income Tax

The public debt of a country is not necessarily a
burden on the economy to the extend that

(a) it is paid for by borrowing abroad

(b) it grows less rapidly than GDP

(c) people receive good public services

(d) all of the above

1s the difference between total
receipts and total expenditure.

(a) Fiscal deficit (b) Budget deficit
(¢) Revenue deficit (d) Capital deficit

The first finance commission was constituted in
(a) 1950 (b) 1951

(c) 1952 (d) 1954

How many tiers are in the Panchayati Raj system
of India?

(a) one tier (b) two tier

(c) three tier (d) four tier
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11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(@)

(b)

(a)

(b)
()

(b)

(@)

(b)
(a)

(b)

Explain the characteristics of public goods.

Or

Distinguish between positive externalities and
negative externalities.

What do you mean by allocation of resources?
How does economic decision influence it?

Or
Review simple model of the optimal budget.
Narrate the sources of public revenue.

Or

Write the control and accountability of public
expenditure.

State the classification of public debt.
Or

Outline the objectives of deficit financing.

Explain the short comings of federal finance.

Or

Outline the major recommendations of
12th finance commission.
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

(a)

(b)

(@)

(b)

(a)

(b)

(a)

(b)

Discuss the efficiency of public goods.

Or
Account far government mechanisms for

adjusting of externalities.

Briefly explain the allocation of resources in
intersector of an economy.

Or

Describe the optimal budgeting as the basis
for determining the role of government
activity in an economy.

Briefly describe the canonr of taxation.

Or
Critically examine Peacock-Wiseman
hypothesis.
Enumerate the techniques of deficit financing.

Or

Give your views on budget as an instrument of
economic policy.
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20. (a) Evaluate the Twelfth Finance Commission
report.

Or

(b) Briefly explain the  suggestions for
improvement in federal financial relationship.
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(6 pages) Reg. No. :

Code No. : 7408 Sub. Code : PESM 43

M.A. (CBCS) DEGREE EXAMINATION, APRIL 2020.
Fourth Semester
Economics — Core
PUBLIC ECONOMICS AND PUBLIC FINANCE
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. A public good is
(a) neither rival nor excludable
(b) rival but not excludable
(¢) both rival but excludable

(d) not rival but excludable



Economists consider effects of started project on
other parts of firm (or) on environment of firm is
called

(a) foreign effects (b) externalities

(c) weighted effects (d) opportunity effects

Cost which has occurred already and not affected

by decisions is classified as

(a) sunk cost (b) occurred cost

(c) opportunity cost (d) replacement cost

Optimum budget approach stresses on the
to government budgetary planning.

(a) application of mathematical tools

(b) application of modern economic analysis

(¢c) both

(d) none of the above

The level of public expenditure tend to expand

with

(a) development activities

(b) political freedom

(c) poverty and income equality

(d) none of the above
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10.

Which of the following is a direct tax?

(a) Sales tax (b) VAT

(¢) GST (d) Income Tax

The public debt of a country is not necessarily a
burden on the economy to the extend that

(a) it is paid for by borrowing abroad

(b) it grows less rapidly than GDP

(c) people receive good public services

(d) all of the above

1s the difference between total
receipts and total expenditure.

(a) Fiscal deficit (b) Budget deficit
(¢) Revenue deficit (d) Capital deficit

The first finance commission was constituted in
(a) 1950 (b) 1951

(c) 1952 (d) 1954

How many tiers are in the Panchayati Raj system
of India?

(a) one tier (b) two tier

(c) three tier (d) four tier
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11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(@)

(b)

(a)

(b)
()

(b)

(@)

(b)
(a)

(b)

Explain the characteristics of public goods.

Or

Distinguish between positive externalities and
negative externalities.

What do you mean by allocation of resources?
How does economic decision influence it?

Or
Review simple model of the optimal budget.
Narrate the sources of public revenue.

Or

Write the control and accountability of public
expenditure.

State the classification of public debt.
Or

Outline the objectives of deficit financing.

Explain the short comings of federal finance.

Or

Outline the major recommendations of
12th finance commission.
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

(a)

(b)

(@)

(b)

(a)

(b)

(a)

(b)

Discuss the efficiency of public goods.

Or
Account far government mechanisms for

adjusting of externalities.

Briefly explain the allocation of resources in
intersector of an economy.

Or

Describe the optimal budgeting as the basis
for determining the role of government
activity in an economy.

Briefly describe the canonr of taxation.

Or
Critically examine Peacock-Wiseman
hypothesis.
Enumerate the techniques of deficit financing.

Or

Give your views on budget as an instrument of
economic policy.
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20. (a) Evaluate the Twelfth Finance Commission
report.

Or

(b) Briefly explain the  suggestions for
improvement in federal financial relationship.
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Code No. : 7267 N Sub. Code : PESE 11

M.A.(CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

First Semester
Economics

Elective — INTERNATIONAL ECONOMICS
(For those who joined in July 2020 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer.
1. The famous statement foreign trade as “engine of
growth” is remarked by
(a) Dennis Robertson
(b) Salvatore
(¢) Chacholiades
(d) Leontief



Both the theory of absolute advantage and the
theory of comparative advantage from a severe
draw back

(a) they both depend upon utility index
(b) they both use rational expectation

(c) they both depend on the labour theory of
value

(d) they both use symmetric information

The classical theory of International trade is
mainly concerned with

(a) the gains from trade

(b) the structure of trade

(¢) the terms of trade

(d) all the above

The opportunity cost theory of international trade
is associated with

(a) Marshall (b) Hicks

(¢) Adam Smith (d)  Gottifried Haberler

The balance of trade is also known as
(a) capital transfers

(b) gain from trade

(c) the visible balance

(d) none of the above
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10.

Rate of exchange means

(a) aunique rate

(b) the rate prevailing in the exchange bank

(¢) the price of money bank

(d) the external value of a country’s currency
International finance corporation is the ancillary
institution of

(@) UND (b) IDO

(¢ IMF (d) IBRD

Which of the following is the head quarter of the
world bank

(a) The Hague (b) Washington D.C
(¢) Paris (d) London
W.T.O was established on

(a) 1stJanuary 1977 (b) 1st January 1983
(¢) 1stJanuary 1995 (d) 1stJanuary 1991

GATT was establish in the year
(a) 1974 (b) 1947
() 1980 (d) 1991
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the modern theory of factor
endowments.

Or
Explain the assumptions of Heckscher—
Ohilin theory of trade.

What are the different types of terms of
trade?

Or
Discuss the relation between of trade and

welfare.

What are the components and structure of
the balance of payments?

Or
Write a short note on foreign exchange rate
and its functions.

Discuss the functions of World Bank.

Or

What are the objectives of IMF?
Page4 Code No.: 7267 N
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15. (a)

(b)

Write a note on WTO and objectives.

Or
Explain about GATTS.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

Evaluate the price equalization theory.

Or

Explain about Samuelson theorem and
Rybezynski theorem.

Trade as an ‘engine of growth’-Discuss the
economic development.

Or

Discuss the factors affecting terms of trade.

What are the non-tariff barriers? Explain
the economic effects of non—tariff barriers.

Or

What are the measures to adjust balance of
payments?
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19.

20.

(a)

(b)

(a)

(b)

Analyse the role of IMF in solving the
problem of international liquidity.

Or

Explain about preferential trade areas
(PTAs) and free—trade areas (FTAs).

Explain about the WTO agreements.

Or

Explain the anti-dumping measures.
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Code No.: 7397 N Sub. Code: PESE 12

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

First Semester

Economics — Elective
HISTORY OF ECONOMIC THOUGHT
(For those who joined in July 2020 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.
1. The main important of economic though is
(a) shaping policies
(b) understand origin
(c) reasonable judgement

(d) all the above



Social welfare is
(a) All individual welfare

(b) Individual only

(¢) Selected family welfare

(d) None of the above

Expand MPL

(a) Marginal Productivity of Labour

(b) Marginal Production of Labour

(¢) Maximum Productivity of Labour
(d) Maximum Production of Labour
Pigou theory was important to

(a) Welfare (b) Wealth

(¢)  Scarcity (d) All the above
Fourier view is related to

(a) Politicism (b) Socialism
(¢ Communism (d) Capitalism
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Marxian theory mainly focused on
(a) Social (b) Communal
(¢) Capital (d) Political

The “Great depression” word was outcome
by

(a) Marshall (b) Marx

(¢) J.M. Keynes (d) J.S.Mill

The second famous theory of Friedman is

(a) Unemployment (b) Employment

(¢) Full employment (d) Under employment

Robert Chernomas and Ian Hudson’s were famous
in the

(a) 18th century (b) 19tk century

(c) 20th century (d) 21t century
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10. Neoclassicism was influences on contemporary

development theory in

(a)

(©)

Early 1990’s (b) Early 2000’s

Early 2010’s (d) Early 2020’s

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a)

(b)

12. (a)

(b)

What are the importance of history of
economic thought?

Or

Mention the main characteristics of
mercantalism.

State about marginal productivity theory of
wages.

Or

Write about pigou’s welfare economics.
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13. (a) Bring out the view of Fourier on socialism.
Or
(b) Note down the critiques of Marx.
14. (a) Explain Keynesian’s economic policy.
Or

(b) Write down the Friedman’s concept of
natural rate of unemployment.

15. (a) What are the main features of twentieth
century economic thought?

Or

(b) Mention the critical evaluation of the
development of economic thought.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Explain the importance of mercantalism.
Or

(b) Describe Quenay’s tableen economic concept
of surplus growth.
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17.

18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Briefly explain Walrasian’s theory of general
equilibrium.

Or

INlustrate with  Marshall’'s ideas on
consumer’s surplus.

Explain in detail about Utopian’s thought on
socialism.

Or
Narrate the modern revival of Marxian

economics.

Enumerate Keynesian theory of
employment.

Or

Ilustrate with Milton Friedman’s new
quantity theory of money.

Evaluate Amartya Sen’s capability theory of
welfare.

Or

Explain the Keynesian ideas on modern
development.
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M.A.(CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

First Semester
Economics

ADVANCED MICRO ECONOMICS THEORY -1
(For those who joined in July 2020 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer.
1. In a free market economy the allocation of
resources is determined by
(a) the central planning authority
(b) consumer preference
(¢) thelevel of profits of the firm

(d) votes taken by consumers



An alternative approach to the substitution effect
was given by

(a) Hicks (b) Allen
(¢) Slutsky (d) Kaldor

Slope of an isoquant is
(a) dk/dl (b) ds/dp
(¢c) dD/dp (d) ds/dD

If (a¢+pB)=1, than the Cob-Douglas production
function is subject to

(a) 1increasing return to scale

(b) constant return to scale

(c) negative return to scale

(d) decreasing return to scale

The equilibrium is unstable and indeterminate
under

(a) Edgeworth Model

(b) Carnot Model

(c) Sweezy Mode

(d) Pareto Model

A market situation with only one buyer is called
(a) monopoly (b) oligopoly
(c) monopsony (d) duopsony
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10.

Cartel is a part of

(a) monopoly

(b) oligopoly

(c) monopolistic competition

(d) perfect competition

Stackelberg's duopoly model is an extension of
(a) Chamberlin's model

(b) Cournot's model

(¢) Bertnand's model

(d) Edgeworth's model

Sylas-Labini assumed that the price is set by
(a) the most efficient firm

(b) the small firm

(¢) the new firm

(d) the exit firm

According to Mdoigliani, limit price is
(a) lower than the competitive price
(b) equal to competition price

(¢c) higher than the competitive price

(d) very low
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

What are the basic economic problems faced
by an economic system?

Or
Explain Roys identity.

What are the criticisms levelled against
C-D production function?

Or

Write a note on translog production function.

List the features of perfect competition.

Or

When price discrimination is possible?

Explain the characteristic features of
oligopoly.

Or
Iustrate Edgeworth model of duopoly.

Page4 Code No.: 7263 N
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15. (a)

(b)

Explain Andrew's version of the full cost
pricing theory.

Or

List the main barriers to the entry of firms in
the oligopoly market.

PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Explain clearly constant elasticity of demand
model.

Or

Give a clear exposition of the linear
expenditure system.

Illustrate various types of technical progress.

Or

Critically examine CES production function.

"Price under bilateral monopoly is
indeterminate" - Discuss.

Or

Discuss group equilibrium with selling cost.
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19.

20.

(a)

(b)

(a)

(b)

Explain Cournot's model of duopoly.

Or

Make a critical evaluation of price
leadership.

Elucidate Bain's limit pricing theory.

Or

Explain Modigliani's model of limit pricing.
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Code No. : 7395 N Sub. Code : PESM 12

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

First Semester
Economics — Core

MACRO ECONOMICS THEORY AND ANALYSIS -1
(For those who joined in July 2020 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. Macro economics does not deal with the
determination of
(a) national income
(b) price of a commodity
(¢) inflation rate

(d) unemployment rate



Foreign investment is a

(a)
(b)
(©
(d)

target variable
intermediate variable
instrument variable

indicator variable

Which of the following is not a component of GDP?

(a)

investment

(b) transfer payment

(©
(d)

rental income

compensation of employees

GNP - capital consumption =

(a)
(©)

GDPL () NNP
PI (d PCI

According to Keynes the aggregate consumption
depends on

()
(b)
(©
(d)

aggregate savings
aggregate income
aggregate investment

investment in stock markets
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10.

Consumption - income relationship is

(a) proportional (b) inverse

(¢) negative (d) non proportional
According to Keynes, autonomous investment is
(a) 1income elastic (b) profit elastic

(¢) interestinelastic (d) income inelastic

The simple acceleration theory of investment is
associated with

(a) Aftalian (b) Frisch

(¢) J.M.Clark (d)  All of them
According to Keynes, inflation is caused by
(a) excess supply

(b) excess demand

(c) 1innovations

(d) deficiency in demand

During inflation, which of the following groups
suffer most?

(a) business firms (b) retirees

(¢) debtors (d) creditors
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

Distinguish  between endogenous and
exogenous variables.

Or

Write a note on ratio variables.

Explain the process of circular flow of
income.

Or
Write a note on GNP and NNP.

What are the implications of Keynesian law
of consumption?

Or

Explain the shape of long run consumption
function.

What are the various types of investment?

Or
Explain the limitations of acceleration

principle.
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15. (a)

(b)

How inflation is classified on the basis of
speed?

Or

List the characteristic features of a trade
cycle.

PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

"Time dimension determine whether a
variable is a sock or flow wvariable"
Elaborate.

Or

Explain the importance of aggregate
approach.

What are the difficulties associated with
national income estimation?

Or

Discuss the matrix approach to national
income accounting.

Examine the objective factors that determine
consumption function.

Or

Explain Milton Friedman's permanent
income hypothesis.
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19.

20.

(a)

(b)
(a)

(b)

List the factors that determine volume of
investment.

Or

Describe acceleration principle.

Explain the trade-off between unemployment
and inflation.

Or

Critically explain Hicksian theory of trade
cycle.
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M.A.(CBCS)DEGREE EXAMINATION,
NOVEMBER 2020.

First Semester

Economics—Core

STATISTICAL METHODS FOR ECONOMICS -1
(For those who joined in July 2020 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer.
1. Diagrammatic expression of relationship between
two variables is known as
(a) scatter diagram
(b) pie diagram
(c) histogram

(d) pictogram



Rank correlation method was developed by
(a) Karl Person (b) Edward Speaman
(¢) Francis Galton (d) Fisher

The regression lines cut each other at the point of
(a) averageof Xonly (b) average of Y only
(¢) averagesof XandY (d) none

When two regression lines coin side, then r is

(@ O (b) -1

() +1 d -5

Any kind of variation which is periodic in nature
and repeats within short duration is called

(a) 1rregular variation (b) cyclical variation

(¢) seasonal variation (d) trend

In a trend equation Y = a + bx, ‘b’ is

(a) intercept (b) slope

(¢) ratio (d) intersection

The best average in the construction of index
number is

(a) arithmetic mean (b) geometric mean

(¢) median (d) mode
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8. The time reversal test is satisfied when

(@) By xhy=1 (b) By xFy=1

© Fy+Bh=1 (d By -F=1
9. Population census is conducted once in

(a) b years (b) 10 years

(¢) 15 years (d) 12 years

10. Annual deaths / annual mean population x 1000 =
(@@ CDR (b) SDR
(¢ CBR (d) SFR

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

11. (a) What are the uses of correlation analysis?

Or

(b) From the following data, calculate the
co-efficient of rank correlation between X
and Y

X | 36]56|20|65|42|33|44|50| 15|60

5035|7025 |58|75|60|45|80| 38

Page 3 Code No.: 7396 N



12. (a) Distinguish between  correlation and
regression.
Or
(b) In a correlation study, the following values
are obtained
X Y
Average 65 67
Standard 2.5 3.5
deviation
Correlation co-efficient 0.8
Find two regression equations.
13. (a) What are the different methods used to
measure seasonal variations?
Or
(b) Calculate 3 yearly moving averages of the
following data.
Year: 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004

Sales(‘000): | 15 18 17 20 23 25 29
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14. (a) List the uses of index numbers.

Or

(b) An enquiry into the budgets of the middle
class families in Tirunelveli gave the

following information

Expenditure Food | Rent | Clothing | Fuel | Misc.
35% | 156% | 20% |10% | 20%

Price (2017) Rs.|150 |50 [100 20 |60

Price (2018) Rs.|174 |60 |125 25 190

Calculate cost of living index.
15. (a) Write a note on vital statistics.

Or
(b) List the uses of life table.

PART C — (5 X 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

16. (a) What are the assumptions and limitations of

correlation?

Or
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(b) Calculate the correlation co-efficient between
the height of father and son from the given
data.

Height of father | 64 | 65 | 66 | 67 | 68 | 69 | 70
(in inches)

Height of son 66 |67 |65| 68| 70|68 |72
(in inches)

17. (a) Explain the importance of regression

analysis.
Or
(b) From the following data obtain two
regressions
X 6 2 10 4 8
Y 9 11 5 3 7

18. (a) [Illustrate the various components of a time

series.
Or
(b) Below are the given figures of production of a
factory.
Year 2012 2013 2014 2015 2016 2017 2018
Product 80 90 92 8 94 99 92

(Rs. In lakhs)

Fit a straight line trend.

Page 6 Code No.: 7396 N



19. (a) Describe the nature of problems involved in
the construction of index numbers.

Or

(b) Calculate Fisher's index number from the
following data and prove that it satisfies
time reversal test.

Commodities 2015 2018

Price | Qty | Price | Qty

6 72 7 112
8 80 10 90
5 50 6 60
5

60 4 52

H| | O|Q|® | »

15 90 20 | 120

20. (a) Explain the importance of vital statistics.

Or
(b) Illustrate the various types of fertility rates.
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M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

First Semester

Economaics

MONETARY ECONOMICS
(For those who joined in July 2020 only)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  Radcliffe committee’s report published during the

year
(a) 1950’s (b) 1960’
(¢) 1970’s (d) 1980’s

2. Money is a complex phenomenon in



(a) Traditional Economy
(b) Modern Economy

(c) Both (a) and (b)

(d) None of the above

Fried man has derived a demand function for

money for —————— wealth holder.
(a) afamily (b) an individual
(c) group (d) all the above

Money is mainly used as a
(a) medium of exchange
(b) measure of value

(¢) store of value

(d) transfer of value

The money supply is the function of the rate of
interest is

(@ M;=f(s) (b) M, =7@)
© S,=f® d) S, =7f0m)

An increase in rediscount rates leads to an
increase in
(a) Bank rate (b) Interest rate

(¢) Ratio rate (d) None of the above
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10.

The capital market becomes an essential

institution in a ————— KEconomy.
(a) Free (b) Restricted
(¢) Contractual (d) All the above

Expand SEBI

(a) Securities and Exchange Bank of India
(b) Securities and Exchange Board of India
(¢) Stock Exchange Bank of India

(d) Stock Exchange Board of India

The main aim of monetary policy is

(a) Exchange stabilisation

(b)  Price stability

(¢) Neutrality of money

(d) Maintain BOP

In developing economics, both capital and money
markets are

(a) Organised

(b) Unorganised

(¢) Semi-organised

(d) None of the above
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

State and traditional and modern view of
money.

Or

Mention three conclusions drew by Gurley
and Shaw.

What are the criticisms of Keynesian
approaches of demand for money?

Or

Mention the importance of Tobin’s portfolio
selection model.

Mention the concept of Hi-Powered money
and money multiplier.

Or

Write down the methods of control of money
supply.

What is market? and state its composition.

Or
List out the functions of SEBI.
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15. (a)

(b)

What are the objectives of monetary policy?

Or

Write a short note on restrictive monetary
policy.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

State the evaluation of liquidity theory of
money.

Or

Explain the recommendations of the
Radcliffe Report.

Describe Friedman’s theory of demand for
money.

Or

Enumerate the classical approaches of
demand for money.

Explain the various components of money
supply.

Or

Narrate the measures to control inflation.
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19.

20.

(a)

(b)

(a)

(b)

Briefly explain the structure of financial
system.

Or
Note down the regulation of financial

market.

Explain the role of monetary policy in
developing countries.

Or

Examine the limitations of monetary policy
with special reference to India.
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(6 pages) Reg. No. :

Code No. : 7403 Sub. Code : PESM32

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Third Semester
Economics — Core
DEVELOPMENT ECONOMICS
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Which of the following explains the term economic
development?

(a) Increase in per capita production
(b) Increase in per capita real income
(c) Structural change in the economy

(d) All the above



An under developed economy is characterised by
(a) High per capita real income

(b) Large proportion of labour force in the
tertiary sector

(c) State of deprivation of large proportion of
population

(d) All the above

Arrange in the right order the contribution of
sectors to the GDP from lowest to highest in the
Indian economy.

(a) Agriculture, Manufacturing and Tertiary
(b) Agriculture, Tertiary and Manufacturing
(¢) Tertiary, Manufacturing and Agriculture
(d) None of the above

Which of the following is the strategy of balanced
economic growth?

(a) Simultaneous investment in all sectors
(b) All sectors are independent

(¢) (a)and (b)

(d) None of the above

Who propounded the unbalanced growth theory?
(a) Gunnar Myrdal (b) Albert O. Hrishman
(¢) J.M. Keynes (d) J.K. Metha
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10.

The concept of HDI was popularised by

(a) Morris D Morris (b) Mahbub UI Haq

(¢) Smith (d) None of the above
Which of the following is a method to measure the
relative poverty?

(a) Gini Co-efficient (b) Lorenz curve

(¢) (a)and (b) (d) Poverty line
Fei-Ranis’ theory of economic development is
based on

(a) Importance of agriculture

(b) Dualistic approach

(¢) Presence of unemployment

(d) All the above

In the Harrod-Domar equation g=S/V, V is
defined as

(a) the value of the country’s capital stock

(b) the ratio of the country’s capital stock to its
output

(¢) the change in the country’s capital stock
(d) none of the above

Which of the following state introduced
Employment Guarantee Scheme first in India?

(a) Madhya Pradesh  (b) Maharashtra
(¢) Tamil Nadu (d) Kerala
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

Explain the difference between economic
development and economic growth.

Or

State the methods of measuring economic
development.

List out and explain the problems of
underdeveloped economy.

Or

How do you measure the poverty?

Describe the role of agriculture in Indian
economy.

Or

Suggest the possible ways to promote Human
Capital.

Give an detailed note on sustainable
agriculture.

Or
Point out the problems of Man Power

Planning.
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15. (a)

(b)

Explain “Big Push Theory”.
Or

Briefly write the role of State in J.S. Mill’s
theory.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

Discuss the common characteristics of

underdeveloped countries.

Or

Indian Economy is a part of International

Economy — Discuss.

Evaluate the Adam-Smith’s theory of

economic development.

Or

Describe the “Schumpeter’s Theory of

Innovation”.
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18.

19.

20.

(a)

(b)

(a)

(b)
(a)

(b)

Explain the Ricardian theory with suitable
illustration.

Or

Explain  “Industrial Reserve Army” in
Marxian Theory.

Explain the nexus between education and
development.

Or

Evaluate the critical minimum effort thesis.

Evaluate the Harrod-Domar model of
economic development.

Or

Bring out the basic points in the Solow’s
growth model.
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